42
Toilet Partition Privacy Covers

"Privacy Cover.....

- Eliminates most door and panel gaps. Smoke/Opaque Clear/Obscure
- Assures personal privacy. FlEKiE.]!E Vinyl Rigid Vinyl

Features:

- Self-adhesive for fastener free installation.

- Clear rigid vinyl blends to all partition colors
and materials.

- Cut to ®t for various partition door installatig

- Flexible vinyl "ap adapts to multiple applicat
The smoke/opaque color and serrated surface

obscures vision.
Contents: Part N09A1010
- 2) 58" pieces per set (poly bagged) / 5 sets per carton

Tools Required:
- Pencil; Measuring tape; Isopropyl rubbing Alcohol; Multi-purpose Snips and Diagonal pli

o

Locator Tab ’ J
Adhesive strip

Easy Installation:
- For door gap applications (apply to post ONLY)

A) Latch side:

Measure from top of door to top of strike / keeper, then meas
from bottom of strike / keeper to bottom of door.

Pre-Cut the @Privacy Cover® with either (Multi-Purpose Snips,
Diagonal Pliers or other safe cutting device) to the above
measurements and align the cover to the post. Clean up t
edges with a utility knife or ®ne grade sandpaper if necessg

Always place the cover on the side opposite to the direction d
door opening.

Clean surface of post, where the 2Privacy Cover® is to be mo
with (isopropyl) rubbing alcohol. Do Not Use Household ClI

%!
4
L]
>
O
@)
>_
<
>
i
o

Remove adhesive backing from "at surface of the cover. Usg
Locator Tab to assist in placement. Press ®rmly to the pos
apply pressure, using an up and down motion to set the ad

Toilet partition doors may be hinged with different style hinge
installation will vary slightly, but cover will always be placed
the post side opposite to the direction of door opening.

B) Hinge Side:

- Pivot Hinge:

Measure from top of door to top of top hinge, and then measure f

bottom of the top hinge to top of bottom hinge. Usually it will not H

necessary to place 2Privacy Cover® below the bottom hinge. h '
Pival Hinge

- Surface Hinge:

Measure door from top to the bottom. Hold 2Privacy Cover° to poj

determine if adhesive surface will make contact with the hinge fag

heads. If this condition exists, merely cut out a wedge of materia

point of contact with the fastener heads to allow the cover to makjg

unhindered "at contact to the post. Surface Hinge

NOTBRJse the same cutting, prepping and application directions as indicated under @Latch

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke. com

42 Copyright « 2017 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.




Toilet Partition Design

For Quotes on Complete Partitions

FOR A QUICK RESPONSE ON PARTITION QUOTES PLEAS

- Visit our website for blank templates indbsign centeink
in the toilet partition home page.

- Faxus the Overhead Drawing to 800-642-Q#eénail to
contact@robertbrooke.com

I O Toled Partition Style, Free Sianding
s o T G el r = 7 AR SR Y s e
| — |
| :| |
la A o O ey 8|
| =m
|
S| = e B
— | I: H r.:,l 1 e
=y
W | B [Sommede
-..E..: P P
it N

A R
T e Tl  Kiie=
LY e | | 8 ! =y | i

OVERHEAD BRACED/FLOOR ANCHORED

Units are recommended for heavy traf®c and nec
vandalism-proof areas. Most economical. Anodize
aluminum goes around top. They do not require al
special “oor construction, therefore they can be us
old or new buildings.

FLOOR-TO-CEILING ANCHORED
Better than overhead braced for heavy traf®c and
vandalism-proof areas. Most stable as pilasters ar
anchored into concrete “oor and structural ceiling

POWDER COATED STEEL

The industry standard. Most economical hybrid epoxy/
polyester powder coated ®nish over galvanized steel with
honeycomb core.

PLASTIC LAMINATE
Aesthetic appeal and economy. Pressure laminate smooth
surface, resistant to grease and stains.

SOLID PLASTIC

The choice for busy public facilities, high density
polyethyene (HDPE) polymer is highly resistant to stains,
common acids and cleaning agents, as well as moisture,
steam, and corrosion. Will not easily dent or chip.

STAINLESS STEEL
Gleaming beauty provides exceptional durability ang
styling. Available in #4 satin or textured ®nish.

H
O

PHENOLIC - BLACK CORE
Impact, moisture, and corrosion resistant, the surfac
are smooth and easy to clean. Ideal for extreme mg
conditions in showers, pools, and saunas, or when
maintenance includes hosing down washrooms.

N
ﬁ
~

FLOOR MOUNTED

Absence of top structure prompts the use of these
units in low ceiling areas. Gives modern, contempo
appearance. They require a 3" minimum concrete ¢
construction to secure anchor bolts.

NOIS3A NOILIL¢EVd 13104

CEILING HUNG

Ceiling Hung is the best choice where minimizing
maintenance is of primary importance. They provid
area free from obstruction to speed maintenance.
this design requires structural steel supports in the

( In-a-Corner ) - Between 2 Walls )
I b & _éi/__
( Free Standing ) Alcove )

61 MINIMUM FOR ADA

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

H:L

FLOOR MOUNTED

OVERHEAD BRACED

Copyright « 2017 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.




Powder Coated Steel Partitions

- Very economical and often used. - Pilasters B 1-1/4" thick, 20 gauge steel.

- Finish is a hard hybrid epoxy/polyester powder coated - Hardware B Cam action hinge permits door to remajn at
®nish over rust resistant phosphate treated steel. With  desired position when not in use. Hinges, strike and|keeper,
inner honeycomb core bonded to the steel with a non-toximat hook, latch, and bracket s are chrome plated alloy.
adhesive to ensure solid construction and sound attenuat@oncealed latch assembly allows for emergency acgess.
Assembled with a continuous roll-formed interlocking crowiiaster shoes are 304 stainless steel.
molding, with corners brazed and ground smooth. - Installation instructions, all mounting hardware and 4 can of

- Doors, panels and urinal screens b 1" thick, 22 gauge stetuch up paint are supplied with each order.
Doors and panels are 58" high.

- J
[ Available Colors ] ( Privacy/Urinal Screens )
| Powder Coated Baked Enamel | )
WALL HUNG
Global All Orders Ship in 48 hours. 1" thick by 42" high panel.

I+

Available in the following widthg
12, 18, 24 and 30". Specify + cqglor
andPart NOSWHS-XX (where X

X

White #2129 Grey #2125 Charcoal #2123 Almond #2103 Khaki #2115 Dark Khaki #2109 . .
is the screen width.
Red #2145 Burgundy #2148 Sage #2141 Azure #2101 Royal Blue #2135 Black #2127 FLOOR & CEILING BRACED ROST

E & PANEL
B m [ Request a Manufacturer©s color charts]for 1-3/4" square post up to 120"
e i ; . !
Pepper Dust #3590 more accurate color representation maximum with 58" high panel.

Metallic Silver #2171 Sandy Beach #2150 A
Specify + colétart NOSFCS-

Hadrian B Ships within 48 hrs of Order. £ All Other Colors Ship in 2 to 3 weeks. | XX-Y (where XX is width from the
front of the post to the wall, Y =

\ - - S

535 Light Grey 541 Extra White 603 Almond 607 Bordeaux 621 Slate OVERHEAD BRACED / FLOOR
ANCHORED
Pilaster is braced by headrail to
wall. Panel is 58" high. Pilaster |s
82" high. Specify + color Bad
545 Charcoal 500 White N09SOBS-XX (where XX is width

from the front of the pilaster to
the wall*).
[

639 Sapphire Blue 609 Colomal: Floor Anchored

70" high pilaster and 58" high
panel. Specify + color Bad
NO9SFAS-XX (where XX is width
from the front of the pilaster to
the wall).*

576 Ruby Red

504 Linen = 532 Latte =

585 Sahara = 581 Moss Green 510 Black =

ANTI-GRAFFITI
COLORS
(SUBJECT TO UPCHA

833 Tricorn Black 828 Dovetail 829 Desert 826 Kilim Beige

= J,
— * The overall width of the screen is 2" widg

Headrail braced solid plastic than the width of the panel.
toilet partitions stocked in\_ J

814 Cast Iron Mell the U.S.A. and Canada.

SPECIAL EFFECTS
COLORS
(SUBJECT TO UPCHA

=

837 Black Fox 831 Nickel Metallic

PLASTIC LAMINATED PARTITIONS

[ Doors Panels Pilasters Aluminum Headrall ]
Includes: Hinges and All Hardware  |ncludes: 4 Brackets Includes: Brackets & Stainless Steel Shaesilable in the following lengths:
Available for the following door openingailable in the following widths:  Available in the following widths: 65" or 83".
widths (actual door size is 16. 22 28 34 40.46.52.55.58. 2,3,4,5,6,7,8,10,12,16, 18, And for 1" and 1-1/4" thick pilasters.
3/8" narrower than the opening): 60 70 and 76". 20,22 and 24", SpecifyD
20, 22,24, 26, 28, 30, 32, 34, 36" Aciual width is 1/2" less. Specify B - Part No.9THS-XX-f¥where XX is
SPeCIfY 2 Specify B - Color, length and Y is pilaster thickness).

Color . Color, - Part No 9TLS-XXwhere XX is 1—1£4" Wide Pilas_ter, Anti-grip type. Has
Part N@TDS-XXwhere XX is door . b o oTPS-XXwhere XX is pilaster width) 1/4" slot for curtain.
opening width) panel width). . (gverhsa]}d bractled forh82" Iﬁeﬂgth, ;oor
- Pilaster type B Standard round edge, 5 . ; ; raced for 70" length, wall hung for
square e{i%e or mounted on “at wgl'l Reinforcing for grab bars available. 58" high, ceiling hgng for 84" Iegngth,

and “oor-to-ceiling for up to 120"
maximum length.

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

Copyright « 2017 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.




Plastic Laminated Partitions

p
- Gives a more aesthetic appeal while maintaining economy. - Pilasters B 1-1/4" thick (uses 1-1/8" particle board)

- Fabricated from 45 pound density, resin impregnated - Hardware B Gravity cam-action hinges permtibdoor
particle board. Plastic laminate is glued to particle board with a nonremain at desired position when not in use. $fifkgeand keeper,
toxic, water resistant adhesive under high pressure. Components amat hook, latch and brackets are chromed |dgtéabal can be
edge banded prior to face lamination to ensure moisture run-off andifted to allow emergency access.

vandal resistance. Not recommended for high moisture areas. . |ystaliation instructions and all mounting hardware are supplied! with
- Doors, panels and urinal screens B 1" thick (uses 7/8" particle boaraach order.

.

[ Doors Panels Pilasters Aluminum Headrail J
Includes: Hinges and All Hardware  |ncludes: 4 Brackets Includes: Brackets & Stainless Steel SAwasiable in the following lengths:
Available for the following door openidyailable in the following widths:  Available in the following widths: 65" or 83".
widths (actual door size is 3/8" narrows, 22, 28, 34, 40, 46, 52, 55, 58,  3,4,5,6,7,8, 10, 12, 16, 18, And for 1" and 1-1/4" thick pilasters.
than the opening) b 22, 24, 26, 28, 3050, 70 and 76". 20, 22 and 24". Specifyb
32,34, and 36" Actual width is 1/2" less. SpeC|fy 5} - Part No. 9THL-XX-Ywhere XX is
Specify B Specify B Color, length and Y is pilaster thickness).

. Color . Color, . Part No9TLL-XXwhere XX is 1-1/4" Wide Pilaster, Anti-grip type. Has
Part No.9TDL-XXwhere XX is door- Part No. 9TPL-XXwhere XX is pilaster width) 1/4" slot for curtain.
opening width) panel width). - Overhead braced for 80" length, wall

hung for 55" length and ~oor-to-ceiling
for up to 116" maximum length.

OVERHEAD BRACED / FLOOR
ANCHORED =
Pilaster is braced by headrail to wiall.

Panel is 58" high. Pilaster is 82" hjgh. - - - -

Specify + color aRert NOSOBL-XX Posenaw 108 L T

(where XX is width from the front pf
" piIaSter o Wa”*). - - -

Floor Anchored pcmram D B | Drmprs Dieaa 303 iy et TI 1R Dz Crwp 10

e, - : - -

Specify + color aRdrt NOSFAL-XX
Carwan Tagisr 713 “agaa Sy B A P Tnorm. fiokha 3443

(where XX is width from the front pf
the pilaster to
[P ]

the wall).*
* g g A

[ Privacy/Urinal Screens ] ( Global Plastic Laminate ColorsALL Colors Ship 1 Week ]

s N\ * Directional Panel - Pattern on panels over 60" wide will run perpendicular to pattern on doors and pil
WALL HUNG U
1" thick by 42" high panel. Availabhle @)
in the following widths + 12, 18, - E
24 and 30". Specify + color an_d i vy i Eaed il AT Ty
Part NOSWHL-XX (where XX is the O
screen width. b, o m

A 0

FLOOR & CEILING BRACED POST ppepe— Em——— e — T @)

& PANEL @)

1-3/4" square post up to 120" P >

maximum with 58" high panel. , —

Specify + colérart NOSFCL-XX-Y ) m

(where XX is width from the front pf "l"'l"?"'""" T Lign SN “Siin Sinkem 100 Fntral Bple 2E¥ (@)
the post to the wall, Y = "oor-to-

ceiling height)* Y

>

Turguwr. Oy HITN Waier B 4121 =huret Sowrd HI0T T 10K 3

:|

O

Z

0p)

* The overall width of the screen is 2" wider
than the width of the panel.

J

* gl WD

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

Copyright « 2017 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.




Solid Polymer Plastic Partitions

- Designed for high-traf®c public facilities, parks and schools. - Hardware B Available in hidden integral hinges or wrap around vpault-

- The high-density polyethylene material has homogenous color througf%f‘inge_s' Cam-action hinge permits door to remain at desired position
each component. Self-lubricating surface resists markings from pen ,hen not in use. Slide latch, striker and keeper, and coat hook afe chrom:
pencils, etc. Has low maintenance; good durability; water resistant, plated alloy. Slide latch assembly allows for emergency access. Standard

unaffected by steam or high humidity. Available in overhead braced/8Fkets are 54" long extruded PVC colored to match partitions. [Pilaster
anchored and “oor-to-ceiling anchored only. shoes are molded plastic to match partitions. Stainless steel shops and fu

) ) ) height aluminum brackets are available at no up charge.
- Doors, panels, pilasters and urinal screens B 1" thick, doors and panels

are 55" high. - Installation instructions and all mounting hardware are supplied With
each order.
|\
[ Privacy/Urinal Screens ] [ Available Colors ]
( A . . .
WALL HUNG Hadrian Solid Plastic Global Solid Polymer Plastic
1" thick by 42" high panel. Availabfle 1 week shipping All COLORS SHIP IN 48 hours

in the following widths + 12, 18, 24 . . - —_—
and 30". Specify + color Bad High Density Polyethylene Colors (HDPE)
No9SWHP-XX (where XX is the
screen width.

FLOOR & CEILING BRACED POST
& PANEL

1-3/4" square post up to 120"
maximum with 55" high panel.
Specify + colétart NOSFCP-XX-Y
(where XX is width from the front p
the post to the wall, Y = "oor-to-
ceiling height)*

=

OVERHEAD BRACED / FLOOR
ANCHORED

Pilaster is braced by headrail to wall.
Panel is 55" high. Pilaster is 82" high. a1 suis
Specify + color aRdrt NOSOBP-
XX (where XX is width from the front
of the pilaster to the wall*).

* The overall width of the screen is 2" wider
than the width of the panel.

(. J

STAINLESS STEEL PARTITIONS

Request
Manufacturer©s
color charts for 20 Frond Sransin
more accurate color K . . . -,
representation =] Headrail braced solid plastic toilet partitions i = -
stocked in the U.S.A. * NOT Available in tough Textlre
or Hammered Finishes
[ Doors Panels Pilasters Aluminum Headrail ]
Includes: Hinges and All Hardware  |ncludes: 4 Brackets Includes: Brackets & Stainless Steel Shivesilable in the following lengths:
Available for the following door openingyailable in the following widths: ~ Available in the following widths: 65" or 83".
widths (actual door size is 16.22. 28 34 40. 46.52.55.58 3,4,5,6,7,8,10,12, 16, 18, And for 1" and 1-1/4" thick pilasters.
3/8" narrower than the opening): 60: 70and 76". 20,22and 24". SpecifyD
20,22, 24, 26, 28, 30, 32, 34, 36". Actual width is 1/2" less. Specify B - Part No.9THP-XX-¥where XX is
Specify D Specify B - Color, length and Y is pilaster thickness).
- Color . Color, - Part No 9TLP-XXwhere XX is 1-1/4" Wide Pilaster, Anti-grip type. Has
Part N@TDP-XXwhere XX is door . b o 9TPP-xxwhere XX is pilaster width) 1/4" slot for curtain.
opening width) panel width). - Overhead braced for 82" length, “oor

- Pilaster type B Standard round edge,
square edge or mounted on “at wall

braced for 70" length, wall hung for
58" high, ceiling hung for 84" length,
and “oor-to-ceiling for up to 120"
maximum length.

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

Reinforcing for grab bars available.

Copyright « 2017 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.




Stainless Steel Partitions

- Provides gleaming beauty, exceptional durability and
modern styling

<
- Doors, panels and urinal screens B 1" thick, 22 gauge stainless s$teel.

- Pilasters B 1-1/4" thick, 22 gauge stainless steel.

- Type 304 stainless steel with a #4 ®nish bonded to an inner honeycpiyvare  Cam-action hinges permit door to remain at desired

core under pressure with a non-toxic adhesive to ensure solid when not in use. Hinges, strike and keeper, coat hook and latch

construction and sound attenuation. Assembled with continuous r°”'chrome plated alloy. Concealed latch allows for emergency accq

formed interlocking, 22 gauge stainless steel crown molding, with corners

position
are
SS.

welded and ground smooth.

- Installation instructions and all mounting hardware are supplied With

each order.

Privacy/Urinal Screens ] [

Urinal Splash Plates

~

N

WALL HUNG

1" thick by 42" high panel. Availah
in the following widths + 12, 18, 2
and 30". Specify + color Bad
NOo9SWHSS-XX (where XX is the
screen width.

le

- Stainless steel.

FLOOR & CEILING BRACED PO
& PANEL

5T

- Cover panels or
screens near urinal.

- Attach with rivets.

Stainless Steel
HEIGHT|  WIDTH PART NO.
41" 16" 9TUSP16
41" 22-1/2" | 9TUSP22
36" 24" 9TUSP24
36" 30" 9TUSP30
36" 36" 9TUSP36

1-3/4" square post up to 120"
maximum with 58" high panel.
Specify + colétart NOSFCSS-XX-
(where XX is width from the front
the post to the wall, Y = "oor-to-
ceiling height)*

=<

of

OVERHEAD BRACED / FLOOR
ANCHORED

Pilaster is braced by headrail to
wall. Panel is 58" high. Pilaster is
82" high. Specify b color analt
N09SOBSS-XX (where XX is widt
from the front of the pilaster to the
wall®).

Floor Anchored

70" high pilaster and 58" high pan
Specify + color aRdrt NOSFASS-
XX (where XX is width from the fr
of the pilaster to

the wall).*

ont

* The overall width of the screen is 2" wider
than the width of the panel.

J

[ Doors Panels

SNOILILHVd J11SV1d 4d3INATOd dITOS

Includes: Hinges and All Hardware  |ncludes: 4 Brackets
Available for the following door openingvailable in the following widths:

widths (actual door size is 16. 22. 28. 34. 40. 46. 52. 55. 58
3/8" narrower than the opening): oA and 7en T

. 60, 70 and 76".
20, 2?' 24,26, 28, 30, 32, 34, 36". Actual width is 1/2" less.
Specify B Specify B
+ Color - Color,

Part NOTDSS-X¥wvhere XX is door
opening width)

- Pilaster type B Standard round edge,
square edge or mounted on “at wall

panel width).

Part No.9TPSS-XXwhere XX is

Reinforcing for grab bars available.

Pilasters Aluminum Headrail
Includes: Brackets & Stainless Steel Shieailable in the following lengths:
Available in the following widths: 65" or 83"
2,3,4,5,6,7,8,10,12, 16, 18, And for 1" and 1-1/4" thick pilasters.
20, 22 and 24". SpecifyD
Specify B - Part No.9THSS-XX-Hivhere XX is
- Color, length and Y is pilaster thickness).

1-1/4" Wide Pilaster, Anti-grip type. Has

Part No.9TLSS-XXwhere XX is !
1/4" slot for curtain.

pilaster width)
- Overhead braced for 82" length, “oor
braced for 70" length, wall hung for
58" high, ceiling hung for 84" length,
and “oor-to-ceiling for up to 120"
maximum length.

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

Copyright « 2017 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.




SOLID PHENOLIC PARTITIONS

Solid Phenolic Partitions

~
J

- Ideal for extreme moisture conditions in showers, pools - Panels and urinal screens B 1/2" thick
and saunas. Surfaces are smooth and easy to clean. - Hardware B Cam-action hinge permits doors totoegreset positio
- Phenolic material is comprised of multiple &dymelamine resin  when not locked. Hinges, strike and keeper are brushed aluminym. Cam-
impregnated kraft paper to give a black codeandaed surface sheet action hinge allows emergency access by lifting door.
on both faces. All layers are fused together under high pressure. Maéggiphtion instructions and all mounting harémarsupplied
of choice where durability and strength are required. Uses stainlesgisteghch order.
brackets. Impact and corrosion resistant; does not support bacteria.

- Doors and pilasters B 3/4" thick

-
-

[ Doors Panels Pilasters Aluminum Headrail ]
Includes: Hinges and All Hardware  |ncludes: 4 Brackets Includes: Brackets & Stainless Steel Shiesilable in the following lengths:
Available for the following door openingailable in the following widths: ~ Available in the following widths: 65" or 83".
widths (actual door size is 16. 22. 28. 34 40. 46. 52. 55. 58. 602, 3, 4,5, 6, 7, 8,10, 12, 16, 18, And for 1" and 1-1/4" thick pilasters.

3/8" narrower than the opening): 70’and’ 76:'. T T T 50, 22 and 24" SpecifyD
20,22,24,26,28,30,32,34,36"  Acyal width is 1/2" less. Specify B - Part No.9THPH-XX-{tvhere XX is
Specify D Specify B . Color, length and Y is pilaster thickness).
- Color . Color, - Part No.9TLPH-XXwhere XX is 1-1/4" Wide Pilaster, Anti-grip type. Has
Part N@TDPH-X}where XX is door. b o oTPPH-Xfwhere XX s Pilaster width) 1/4" slot for curtain.
opening width) panel width). - Overhead braced for 82" length, “oor

- Pilaster type B Standard round edge
square edge or mounted on “at wall

braced for 70" length, wall hung for
58" high, ceiling hung for 84" length,
and “oor-to-ceiling for up to 120"
maximum length.

'Reinforcing for grab bars available.

"Color-Thru" Phenolic

Cinnamon 5450C Persian Blue 7450C Gray Misy 3450C

Sage 6450C Hazelnut 4450C Black 2000C

Standard Black Core Colors

= %
s

Almond 4000 Neutral Glace 1130 Natural Canvas 4410

Desert Zephyr 4583 Tungsten EV 4801 Taupe 9096

Manufacturer©s
color charts for
more accurate color
representation

: o o Request
Silver Gray 3000 Folkstone Celesta 3300 Dove Gray 3010

Graphite Gra®x 3020

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

Copyright « 2017 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.




steel tubing.

Grab Bars

STRAIGHT BARS

STRAIGHT BARS

ADA ACCESSIBLE COMPART ‘
REQUIRE: / PART Nd. LENGTH _PART Nd. LENGTH
1-1/4" or 1-1/2" Dia. bars, at I¢ K7410 12" K7414 "
a 42" long on side and at leas K7411 16" K7415 42"
36" Iong behind the toilet. K7412 18" K7416 36"
(Most popular are 36" and 42" K7413 24" K7417 48"
long, 1-1/2" diameter, concealed
set screws.)
) ) STRAIGHT BARS
- In compliance with strength e WITH CENTER POST
requirements of ADA guidelines. = PART NO LENGTH
- Bars are fabricated of a satin ®nisf K7415C 42"
18 Gauge type 304 stainless K7416C 36" Specify Part
K7417C 48" Number,
- Available peened or smooth. Flange Type,
- Mandrell bending process ensures 1-1/4" or 1-1/2"
uniform bar diameters. TOILET PARTITION BARS Diameter
- Heliarc welding forms a single PART NGO LENG"TH when ordering
structural unit. e hEHES 52
K74184 54"

EXPOSED MOUNTING

- Flange is 3" diameter, 1/8" thick
type 304 stainless steel with
satin ®nish.

- Exposed mounting screw holes
are drilled and countersunk.

Left ldand (shown)

30— N

SNAP FLANGE

- Cover snaps over mounting “ange
dimples to conceal screws.

- Concealed mounting “ange is
3-1/8" O.D. diameter with two screw
holes and three locking dimples and
is 1/8" thick, type 304 stainless steel.

- Cover is type 304 stainless steel with
satin ®nish, 22 gauge, 3-3/16" diameter.

CONCEALED MOUNTING

-Flange is 3" diameter. 1/2" deep,
11 gauge type 304 stainless steel
with satin ®nish.

- Tenon plate is 13 gauge with
slotted screw holes.

- Flange is secured to tenon platg
with 3 stainless steel allen
head screws.

T . : Left Hand (shown) - @
RightHand opposite Model No. 2245 Py
Model No. 2210 ' >
Left Hand (shown) ,\Rﬂ'ggt |H|\de224 . MODEL| LENGTH [HSY)
o1 Model No. 2257 odel No. 2245 7450 | A=36" |Gy
- Rigf fand 7456 i_—z??a" =
Model No. 2256 g A
B =54 wn
7457 A=42"
/l 12" B = 52"
11— |/16" Left Hand (shown) 7460 A= 15"
J\ Model No. 2231 B = 30"
"
SWING-UP GRAB BAR SIDE-GRAB BAR > I\ TYPE 34
Locks ®rmly into place Model No. 7472 /| . . 24" 24" Model No. 2234
when lifted into an upright 30" Swings 90! <
position 1-1/4" O.D.
Model No. 3410 /I/
"/ 18"
33" J’
Adjustable
~
J/ \ 8"
E—

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

Copyright « 2017 Robert Brooke & Associates. This catalog is copyrighted. No portion may be reproduced without the permission of Robert Brooke & Associates.




50 :
Restroom Accessories

TYPE "A" #NSIDE PILASTERS/ OVER PANEL TYPE "B" #©VER PILASTERS

Headrail Type "A" Headrail Type "BpPiLASTER PILASTER

yp yp THICKNESY  LENGTH | PARTNO.  {LIEKNESs LENGTH| PART NO.

i 60" 9HR60A i 75" 9HR75B1

1" 74" 9HR74A 120" 9HR12B1

il 120" 9HR120A 1-1/4" 62" 9HR62B2

75" 9HR75B2

98" 9HR98B2

120" 9HR12B2

ROLL TYPE CHROME
Part Nc®A0330

DOUBLE ROLL CHROME
Part NcOA0965

SINGLE ROLL * Deluxe CHROMEDOUBLE ROLL * Deluxe CHF
Part NOAT815 Part NCOAT830

KEYED 2 ROLL TYPE

Surface Mounted with Keyed Lock
6"w x 13"h x 6"d

Stainless Stelehrt N®OA0311

Heavy White Metal Back

White Plastic Frétitrt NOAR25W
Heavy Black Metal Back
Transparent Plastic FFont N©OAR25T

SINGLE ROLL TYPE
CONTROL-O-ROL
Controlled Tissue Flow.
Tough ABS Plastic.
Tension Spring

Part Nd®A0270

DOUBLE ROLL TYPE CONTROL-O-R@OUBLE ROLL TYPE CABINET TYPE (Sheet)
Controlled Tissue Flow. Tough ABS Plastiith Covered Reverse Roll 8-1/4" x 5-7/8" x 3-1/8"
Tension Spring Controlled by Lock WHITE

Part NcOA2270 6'x 10" x 558" @ I Part Neoasa1w

CHROME
SPINDLE ONLY B CONTROL-O-ROL b/t NoOAOST6

ABS PLASTIC
Part NdOA3469

REPLACEMENT SPINDLE
(Used on the 9A0311)
5-5/16" Long x 7/16" Axle Dia.

Part Nd®A0312

- Dual dispensers for liners

- 4" depth closed; 20" depth open; 34" wide
- Fully hidden gas shock

- Shelf for personal changing items

- Safe Strap safety belt

- Molded in hook for purse or diaper bag

7))
*§  BabyChangingStaton ~  9"JumboRols
Part NOR104 - Universal All Brand 9" Jumbo Tissue with 3-3/8" Cores

@) - White Impact Resitant Plastic Back

7)) - Surface Moll_mted B 4" Depth (closed) - STAINLESS STEEL ALSO AVAILABLE

(0)) - ADA Compliant

LL] - Sturdy Child Protection B 250 Ib. load capacity

O - Easy Opening and Closing

O - Constructed of 100% High-density Polyethylene

< - Easily cleaned, gray color

=8 Diaper Depot Changing Station i

8 dure o affordab FRONT COLdR PART NO. FRONT COLdR PART NO.
- Attractive, durable, safe, affordable DARK DARK
- Combines durability with long lasting looks TRANSLUCENT TRANSLUCENT

T Y g g 9AR26T 9AR27T

— - Universal Safety instructions WHITE 9AR26W WHITE 9AR27W

)

L

o

Solid Colored Plastic + Heavy Duty For Commercial & Institutional |

COLOR | PARTNO. . Concave bed NON-HANDICAPPED
Powder Gra 9RSSI1P - Includes Industrial grade hardware kit for apo LENGTH agoWIDTH COVER COL@ET NO
vory 9RSSII  easy installation . _ TELONGATED BOWL 18] 3581 14{/8" |YES  |WHITE  9ASEL0
White ORSS1W - Warranted to be free from defects in material |
and workmanship for up to ®ve years 15-1/4" NO WHITE 9ASE20
BLACK 9ASE30
REGULAR BOWL 16 - B/4l 14-1/2" YES WHITE 9ASE40
15" NO WHITE 9ASES0
BLACK 9ASEG0

SEAT ATTACHING HOLES

HANDICAPPED

LIFT]  2B° | coverwidth Colop* Part No.
HANDICAPPED adds Lift 2" EIongate No White 9ASE70
3" | Elongate No White 9ASE75

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

&0



: o

( Speci®cation Sheet, Other Models & Types Available J

&

PLASTIC LIQUID/LOTION
SOAP DISPENSER

- Impact Resistant
Dark Translucent Plastic

-Large Push Bar Meets
ADA Requirements

TOUCH-FREE UNIVERSAL
ELECTRONIC SOAP DISPENSER 1ite Plastic Globe

- Impact Resistant

- 3-Cell Alkaline Batteries
Provide 10,000 Dispenses of
1 Drop of Soap

- Liquid Soap

- 4"w x 6"h x 5"d
- 16 oz. Capacity
Part NAOA0500

.5"w X 6"h x 4"d - Hand actuates by breaking
electronic beam
CAPACITIYPART NO. - 4 x 11°h x 5°d
300z | 9AS30T - 27 0z. Capacity
460z | OASA6T Part NcOSES00W

(&)
STAINLESS STEEL VERTICAL
- 8"w x 5"h x 5"d

- 40 oz. Capacity
Part N®OA0345

- For both Liquid & Lotion Soaps
- 5"w x 8"h x 5"d

- 40 oz. Capacity

Part NdOA0347

R LAVATORY MOUNTED
(b | SOAP DISPENSER
- Dispenses Viscous Lotion So
and synthetic detergents

- Spout & Stem are Polished
Stainless Steel

- 34 oz. Capacity
Part NdOA0332

- 1200 mL re®Il high capacity re®Il reduces
labor & reduces waste

- Sensor technology provides RELIABLE
touchfree dispensing

- Battery life of 45,000 uses or one year
- Premeasured dispensing saves soap

- Modern design enhances any facility

- Hygienic-fresh valve with every re®I|

- Touchless application helps reduce
cross contamination

- Over 3,000 hand washes per re®I|
- LED light for low battery
- 3 year warranty

- Mounts to wall with screws and anchors or
double-sided tape

- Battery requirements: Six "AA" alkaline batteries

- Helps reduce 50% per hand wash with the
perfect portion of high concentrated soap

- One of the GREENEST systems available with
a controlled delivery, reduced packaging, long
battery life, biodegrable, and more hand
washes per re®l|

0 SURFACE MOUNTED SHELF
. AND SOAP DISPENSER
- For both Liquid & Lotion Soaps
- Satin Finish Stainless Steel
- 20"w x 3"h x 5"d
- 80 oz. Capacity

Part NcRA0318

SANISUDS DISPENSER
- Black Translucent

- 4-3/4" x 11-1/4"

Part NOSF305BK

SANISUDS DISPENSER
- Blue Translucent

- 4-3/4" x 11-1/4"

Part NAOSF305ICE

SANISUDS DISPENSER
- Brown Black Translucent
- 4-3/4" x 11-1/4"

Part NOSF305TS

STAINLESS STEEL HORIZONTAL
ALL PURPOSE SOAP DISPENSER

[]
ALL PURPOSE SOAP DISPENSE - For both Liquid & Lotion Soaps *g|ve threads are 3/4" O.D

Y
m
n
—
Y]
@)
©)
<
>
(@)
@)
M
7))
@)
©)
By
m
n

EYE GLASS
REPLACEMENT
for the 300/400 serigs

soap deispensers
Part NdOAO300E

PUSH UP SOAP DISPENSER

STAINLESS STEEL VERTICAL STAINLESS STEEL HORIZONTAL
SOAP DISPENSER SOAP DISPENSER

- 5'w x 8"h x 3"d - 8"'w x 5"h x 3"d

- 40 oz. Capacity - 40 oz. Capacity
SOAP | PART NO. SOAP | PART NO.
LIQUID| 9A0444 LIQUID| 9A0333

SOAP DISPENSERVALVE PART NO.

9A0333 9A035C*
9A0444 9A035C*
: 9A0500 9AV500

28 Threads per inch. ALL PURPOS 9AV320

DISPENSERS * 250 Seat Cover Capacity

SURFACE MOUNTHERECESSED KEYED
UNKEYED 18" X 21"X 3"

12" x 17" x 2" Stainless Steel
White Part NIOASEO4

Part NOASEOL COVERS

Polished Chrome 18" x 15" + Bright White
Part NOASEO2 5500 case Size

Stainless Steel Part NOQASE11
Part N®WASEO3 5000 case Size

Part NOASE12

GREEN SEAL CERTIFIEBNTIBACTERIAL FOAME-2 FOAM CLEANSER
LOTION FOAM SOAP ~ SOAP W/TRICLOSAN . 3 packs per case

- 3 packs per case - 3 packs per case Part NcOF7250
Part N©OF7000 Part N©OF7125

NON-ALCOHOL FOAM
SANITIZER

- 3 packs per case
Part N©OF7500

ALCOHOL FOAM
SANITIZER

- 3 packs per case
Part NcOF7800

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.




3

Restroom Accessories

n
LL
o
@)
)
n
LL
O
@)
<
=
®)
@)
o
|_
n
L
4

g

SINGLE FOLD PAPER TOWEL DISPENSER

-Holds 400 Towels
-Sheet Metal Construction
-11"w x 6"h x 5"d

ITEM | PART NO.
WHITE| 9AT500
CHROME  9AT500C

C-FOLD, MULTI-FOLD SMALL METAL PAPER TOWEL DISPENSER  cOVER COLOR PART NO.
-Tumbler Lock, Stainless Steel and Heavy Duty Piano Hinge

-Holds 275 Multi-fold or 200 C-fold Towels
-11"w x 8"h x 4"d
Part Nd®AT0215

ROLL TYPE - BOTTOM PULL TOWEL DISPENSER

- #4 Satin Finish Type 304 Stainless Steel

- Exposed Towel Allows User to Pull Out Pre-
determined Amount of Towel and Tear Off

- Holds Rolls up to 8"wide non-perforated roll
- 11"w x 16"h x 9"d
Part NOAU170HF

ROLL TYPE, CRANK TOWEL DISPENSER
-Holds Rolls 8"w x 5000

-Dent Resistant White Enamel Steel
Part NIOAT675

ROLL TYPE - BOTTOM PULL TOWEL DISPENSER

- Translucent Impact Resistant Plastic Front - Impact Resistant Plastic

- For Rolls 8"w x 8" dia. _ - Holds Rolls up to 9"dia x 9" tall

- 11" Sheet via. Auto-Cut Mechanism - 10"w x 12"h x 10"d

- 1'wx 16"h x 9°d COVER COLOR | PART NO.

Part NdOAT400T WHITE 9AT255W
DARK TRANSLUCELT 9AT255T

C-FOLD, MULTI-FOLD METAL

PAPER TOWEL DISPENSER

-Tumbler Lock, Sheet Metal
and Heavy Duty Piano Hinge

-Holds 525 Multi-fold or 400
C-fold Towels

-11"w x 15"h x 4"d

C-FOLD, MULTI-FOLD
PAPER TOWEL DISPENSER
-Heavy Gauge Steel Back
with Impact Resistant
Plastic Front
-Holds 540 Multi-fold
or 335 C-fold Towels

AT'wx 15"h x 4% ITEM PART NO.

WHITE ENAMEL  9AT130
CHROME PLATED 9AT130C
STAINLESS STEEL 9AT0210

WHITE 9AT175W
DARK TRANSLUCENT  9AT175T

ROLL TYPE - FULL WIDTH LEVER ACTION TOWEL DISPENSER
- Heavy Gauge Steel Back with Impact Resistant Plastic Front
- For Rolls 8"w x 8" dia.
- 11"w x 16"h x 9'd
COVER COLOR| PART NO.
WHITE 4 9AT215W
DARK TRANSLUCHENT  9AT215T

ROLL TYPE - NO TOUCH ELECTRIC TOWEL DISPENSER
- Heavy Gauge Steel Back with Impact Resistant Plastic Front
- For Rolls 8"w x 8" dia.

- Towels are Dispensed Automatically When Hands are Placed Below Dispen:

- 11"w x 16"h x 9"d
COVER COLOR | PART NO.
DARK TRANSLUCENT ~ 9AT225T

T
Towel Cabine
Selector Guide

ROLL TYPE - SELF-ADJUSTING CENTER PULL|DISPENSER

HEAVY DUTY NO TOUCH

HAND/HAIR DRYER

- Tough Die-cast Aluminum Housing
with Baked Enamel Finish

- 2300 Watts of Power

- Surface or Recessed Mounted

- 13"wx 9"h x 7'd

TURBO DRI HIGH SPEED DRYER
- Heavy Duty Stailess Steel Housing
- Infrared sensor

- 12 second dry time

- 60 second shut off

- 120 Thru 240 Voltage

- 5 Year Warranty - Surface Mounted
- Sound level: 65dB to 78dB
NO TOUCH N - -
HOUSING | PART NO. - 8-1/16"w x 12"h x 7-5/64"d

BLUSTORM HANDSFREE

BAKED ENAMEL  9U1525EA ITEM | PART NO. HIGH SPEED DRYER
STAINLESS STEEL 9U1521EA WHITE 9A0197W . Stainless Steel
CHROME PLATED 9U1525CEA SATIN SS 9A0197S - Less than 10-15 sec. dry time
BRIGHT SS 9A0197B

HANDS FREE METAL AUTO HAND DRYER
- Painted Cast Aluminum
- Approximate drying time of 30 sec.
- Dryer shall deliver 150 CFM
- Sound level: 64dB
- Volts: 120
- 11-3/16" X 9-3/4" X 8"
Part NcOHD907

- Blue light allows user to
maximize the dryers ef®cience

- One piece cover with 2 vandal-

HANDS FREE ABS PLASTIC HAND DRY{&Bof lock screws & key wrench

- High grade ®re retardant ABS

- Approximate drying time 30 sec.

- Power cut off automatically in case
of irregular use 120 sec

- Dryer shall deliver 150 CFM

- Volts: 120

- 10-1/2" X 8-3/4" X 6-3/4"

Part NOHD903

- Over a 70% cost savings vs.
conventional hand dryers
- Power cutoff automatically case
of irregular use over 60 sec
- 5 year warranty
-9.1" X 11.9" X 7.4"
Part NoOHD950 120 volts

Part NA®@HD951 240 volts

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.




5%
Restroom Accessories

- Available in 6 colors: Clear (standard), white, almond, dark aliand blacay and black. PART NUMBER |

- Stainless steel available in satin or bright ®nish. LENGTH

- Installation options are screws or double-sided tape. WINGS 48" | 96"
1-1/8" X 1-1/8" KCG148 KCG196
2-1/2" X 2-1/2" KCG248 KCG296

Specify: part number, material, color and screws or tape installation.

'R
—

Speci®cation Sheet, Other Models & Types Available

C-FOLD, MULTI FOLD TOWEL DISPENSER H C-FOLD, MULTI FOLD PAPER
& WASTE RECEPTACLE b TOWEL DISPENSER
- 22 Gauge Type 304 Stainless Steel - 22 Gauge Type 304 Stainless Steel
- Heavy Duty Door and Piano Hinge - Heavy Duty Door and Piano Hinge
- Tumble Lock on Doors and Waste - Tumble Lock on Doors

Receptacle - 600 C-Fold or 800 Multi Fold Towels
- 600 C-Fold or 800 Multi Fold Towels Capacity

Capacity - 13"w x 26"h x 4"d

- 12 Gallon Waste Receptacle

. 15" x 54°h x 4"d ITEM | PART NO.
SURFACE MOUNT[ED 9A05429
ITEM | PART NO. RECESSED 9A0452
SURFACE MOUNTED 9A04699 ) ) )
RECESSED 9A0469
- 22 Gauge Type 304 Stainless Steel
- Top and Bottom Edges Hammered s\ DUAL SANITARY NAPKIN/TAMPON DISPENSEEPS]
for Safety . - #4 Satin Finish Stainless Steel m
- 12 Gallon Receptacle. ) wn
Other Sizes Available - 2 Seperate/Independant Mechanisms e
- 30 Napkin, 27 Tampon Capacity Py
ITEM | SIZE___| PART NO. - Settings: Free, .05, .10, .25, .50 coinage 0O
SURFACE MOUNTED 16"W X 29"H X 7"D  9A04589
FREE STANDIN 16"W X 23"H X 8"D  9A0826 ITEM | PART NO. O
RECESSED 16"W X 29'H 9A0458 SURFACE MOUNTIED 9AU527 z
RECESSED 9AU526 >
O
SURFACE MOUNTED SANITARY NAPKIN DISPOSAL & BAGS ® PARTITION & IN-WALL SANITARY O
. Piano Hinge Cover . NAPKIN/TAMPON DISPOSAL m
8w x 11°h x 4"d . #4 Satin Finish 304 Stainless Steel %
- Partition Unit Serves 2 Compartments O
ITEM | PART NO. Mounting in Panel
WHITE FINISHED METAL 9A4101W . Recessed for Side Wall Use Py
CHROME PLATED METAL 9A4101C I-l_-l
STAINLESS STEEL 9A4101 wn
KRAFT (WAX COATED) EgAlz!.lo]_B
BAGS (500 COUNT) ITEM | PART NO.

RECESSED IN-WAILL 9A0473

PARTITION DUAL ACIZESS 9A0472

Plexiglass with polished edges. Pressure sensitive 6"x6" Tactile signs comply with the signage
12" Dia. (152 mm) international requirements of the American
Part Nos. handicap symbol with Disabilities Act. Durable plastic
Women + 9R840 white on blue with Grade 2 Braille. 6"x 8",

Part No. Part Nos. Women + 9R840T
Men  9RB40A 9R840C Men + 9R840AT
Restrooms + 9R840BS Restroom + 9R840BT

Restroom + 9R840B

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.




B4
Restroom Accessories

CHANNEL FRAME PLATE GLASS MIRROR FIXED ANGLE TILT MIRROR

- 1/2" x 1/2" x 1/2" One Piece Channel - Offers Visibility for Wheel Chair Users

- Type 304 Satin Finish Stainless Steel - 20 Gauge Satin Finish Stainless Steel Frame
- 15 Year Warranty Against Silver Spoilage - Mirror Tapers from 4" at Top to 1" at Bottom

- Includes bracket for Easy Secure Installation - 15 Year Warranty Against Silver Spoilage

Part No.| Width [ Height Part No.| Width | Height ' égr?::(glfosslztrsewsei’:ill\(l;{ Mirror Unit
9TM535 16" 20"| 9TMeH5 24 48"
9TM639 16" 24"l 9TM624 24 60" Part No.| Width| Height
9TM550 16" 30"| 9TM626 36 24" 9A535 16" 30"
9TM537 18" 24" 9TM660 36[' 48" 9A5351 18" 24"
9TM640 18" 30" 9TM627 48" 24" 9A5353 18" 30"
9TM541 18" 36"| 9TM670 4§ 36" 9A5355 18" 36"
Also available 9Tm650 24" 24"l  9TM628 60 24" 9A5357 24" 30"
with shelves| 9Tme41| 24" 30" 9T™M6q0 60" 36" 9A5359| 24| 36"
9TM623 24" 36"| 9TM690 7 36"
* ADJUSTABLE TILT MIRROR FRAMELESS STAINLESS STEEL MIRROR
- Offers Visibility for Wheel Chair Users or - 20 Gauge Stainless Steel Polished to a #8
Returns to Upright Position Mirror Finish
- 18 Gauge Stainless Steel Frame - 1/4" thick Concealed Tempered Masonite
- Tilts Full 6" Backing with Holes in Each Corner for
- 15 Year Warranty Against Silver Spoilage Mounting. Customer Supplies Screws
. S_tainles_s Steel Hinge Piyot Brackets and Part No.| Width| Height
Piano Hinge Attached Mirror to Wall 9A8026 16" 20"
Part N0.| Width| Heighi | Part No.| Width| Height 9A80261 16: 24:
9A600T| 16"| 24"[[ omeoofs 18" 36" HE U
9A600T 16" 30" 9A600T7 " 30" 9A80263 18" 30"
9A600T 18"| 24" 9A600T9 " 36" 9A80265 24 30
9A600T 18" 30" 9A80267| 24" 36"
n 9A80269 48" 24"
L
4  Stainless Steel Sheving
8 ECONOMY SHELVES
N Part No. FOLDING UTILITY Shelf
Ll LENGTH 5" Depth 6" Depth 8" Depth Part NCOAOG98
O 12" 9TS538x12 9TS638x12 9TS838x12
[@J - Fabricated with Satin Finish Stainless Steel 16" 9TS538x16 9TS638x16 9TS838x16
e . Premium shelves 18" 9TS538x18 9TS638x18 9TS838x18
24" 9TS538x24 9TS638x214 9TS838x24
2 30" 9TS538x30 9TS638x30 9TS838x30
@) 36" 9TS538x36 9TS638x36 9TS838x36 .14.5/8" X 5-13/16"
@) 48" 9TS538x48 9TS638x 9TS838x48 Upright position when not
D: Spec|®cat|on Sheets ar 60" 9TS538x60 9TS638x 9TS838x60 in use.
— available for all product 72" 9TS538x72 9TS638x 9TS838x72
7))
LLI
o
For Removing One-Way Screws Chrome Plated Steel Available 100/Box
PART NQ. DESCRIPTION _ | USE 10-24 Thread
=~ O9A7022| #10x5/8long-11/32 flia. Coat Hooks
head, 3/16 dia. thread #9F0217 Slide Bolt Latch,
~ #9F0211N & #9F0214N Hinges
9A7087| #10x 1" long - 3/16" dif., Door Inserts, Cam Housings,
Phillips Tapered head| Flat Keeper Bumpers PART NQ. GRIP RANGE
N 9A7073| #12 x 1-1/2" long+13/32|dia. Bracket to wall 9SS075| 3/4" + 7/8"
| Part No. ‘ head 7/32 dia., thread 955087 7/8" + 1-1/16"
For #12 & #14 Scrgws 9A0810 \"op0121| #12x 1" Plastic Plug Arjchor #9A7073 Screws 955106 1-1/16" + 1-5/16" 1" door slide
omsmoseets g W —Tam e e | pobinies  pana e
For #6 & #8 Screws ~ 9A0804 oo OB - 95S131| 1-5/16" + 1-5/8"1-1/4" Pilaster
Three-Pack 9A0801 —— OA7010| #10x3"Long=* 7/16 dia. Attaches brackets to drywallhead togg% brackets, k_eeper bumpers &
One of each hinges

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.




Toilet Partition Hardware

5E

)

[

For use on Plastic Laminate )

( For use on Metal )
TOP AND BOTTOM HINGE SET CAM TOP
1-1/2" Bet. Screws Part No.
For 1-1/4" Rnd. Post 9HAH7
Part NOHAH15
A=1-1/2" A=1-1/2"

CAM DOOR INSERT

BOTTOM BOLT CLOSURE CAP

Part No Part No. Part No.

OHAH6 9HAH5 9HAH3

BOLT LATCH SLIDE PIN
(Concealed)
Part NOHACLS

TOP HINGE PIN
Part NOHAH11

KEEPER BUMPER
1-1/2" Bet. Screws

For 1-1/4" Rnd. Post
Part No.

9HACL1 Chrome Plated
9HACL1SS Cast SS

COAT HOOK & BUMPER

Part No.
9HA426 Chrome Plated
9HA426SS Cast SS

TURN LATCH & COVER
Part No.
9HACL36N Chrome Plated

TURN LATCH & COVER 9HACL3SS6EN Cast SS

Part No.
. 9HACL3AG6N Chrome Plated
9HACL3ASS6N Cast SS

Old Style

KEEPER BUMPER
For Outswing

For 1-1/4" Sq. Post
Part NOHAP23

aU°TRIM
DOOR INSERT

Part No.
9HAP15

CAM SET (Plastic)
Part NOHAP35

Current

CAST STAINLESS STEEL

OUTSWING KEEPER BUMPER
TYPE | PARTND. FOR

LAMINATE 9HAPb4 1-1/4"
POLY | oHAPHs 1

PHENOL|C 9HAH58  3/4"

Current
CAST STAINLESS STEEL

ACCURATE DOOR KIT NEW STYLE

INSWING KEEPER BUMPER
TYPE | PARTNo. FOR

LAMINATE 9HAPE5 1-1/4"
POLY | OHAPY7 1"

PHENOL|C 9HAH59  3/4"

KEEPER BUMPER

Old Style

KEEPER BUMPER
For Inswing

For 1-1/4" Sq. Post
Part NOHAP27

TOP OR

BOTTOM HINGE
1-1/2" Bet. Screws
For 1-1/4" Sq. Post
Part NOHAP10

A=1-11/16"

HINGE PIN
3/8" Dia.
3-7/16" Long
Part NOHAP30

Old Style
SLIDE BOLT LATC]
(Surface) 3-1/2"
Bet. Screws

Part NOHAP20

Current
SLIDE BOLT LAT(C
Part No.
9HAP68 CAST SS w9)
1-1/2" W x 3-1/4" |
2-3/4" hole spacing

VIIVAY Ad3AINT3A AVA LX3AN

KEEPER BUMPER

For inswin For Outswin
ACCURATE DOOR KIT NEW STYLE Used January 1 2013 to current. Includes For 1_1/4ugsq_ Edge For 1-1/4" S‘?q. Edoe
Used January 1 2013 to current. Includes all parts shown and security screws. Part No. Part No.
all parts shown and security screws. Part NOHACL505A Chrome Plated 9A2353 CHROME 9A2354 CHROME
Part NOHACL505 Chrome Plated
K f . : SLIDE BOLT LATCH SLIDE LATCH
Side view of Hinge
How to Idenufy Hardware - 9 Part NOA2899 Part NOAG983 CAST S —
Top and Bottom hinges are more easily identi®ed 1-1/2" W x 3-1/4" L 1-3/4" W x 1-1/2" L O
by measuring the distat®® on your hinge and 2-3/4" bet. Screws hole spacing ':
comparing it té&\" next to the part. m
Screws Are Supplied with All Hardware —
~ AlAmerican + Chrome Plated Hardware [
T . Py
( For use on Metal ] ( For use on Plastic Laminate | jias
TOP HINGE BOTTOM HINGE TOP HINGE BOTTOM HINGE —
1-1/2" Bet. Screws 1-1/2" Bet. Screws 1-1/2 Bet. Screws 1-1/2" Bet. Screws 6
For 1-1/4" Rnd. Post For 1-1/4" Rnd. Post For 1-1/4" Sq. Post For 1-1/4" Sq. Post
Part NOAA102 Part NcOAA103 Part NOAAL12 Part NcOAA113 Z
A =1-5/8" A =1-5/8" T
KEEPER BUMPER HINGE PIN KEEPER BUMPER TOP HINGE >
For 1-1/4" Rnd. Post 5/16" Dia. For Inswing 1" Door Insert Py
Part NEOAA105 2-13/16" Long For 1-1/4" Sq. Post Part NcOAA132 O
Part NOQAA101 Part NOAA115 E
LATCH COVER & KNOB E‘PDTTO'}/' le'\thE >
Part NBAAL04C For Use On Both Metal & Plasti oor Inse Py
Part N®OAA133 m
PINTLE NYLON CA|
1/2" Dia. Part No.
LATCH COVER & KNOB Part No. 9AA107 HINGE PIN
. Part N®OAAL104A 9AA108 Brackets on 3/8" Dia.
page 66-67 3-7/16" Long

Part NcOAA111

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

55




56

NEXT DAY DELIVERY AVAILAB

Toilet Partition Hardware

'

For use on Metal

)

TOP HINGE

1

-1/2" Bet. Screws

For 1-1/4" Rnd. Post
Part No®C3503

A=1-7/16"

TOP HINGE CASTING
Part N©OC3513

BOTTOM HINGE
1-1/2" Bet. Screws
For 1-1/4" Rnd. Post

HINGE PIN
Part N®C3004 3/8" Dia.
A=1-7/16" 3-7/16" Long
Part NcOCP450
BOTTOM CAM
HOUSING
Part Ne®@C0140

PINTLE
5/8" Dia.
Part N©OC3006

NYLON
CAM

Part No.
9C3002

KEEPER BUMPER
INSWING
For 1-1/4" Rnd. Post

Part N®®A5580

KEEPER BUMPER
OUTSWING
For 1-1/4" Rnd. Post

'R

For use on Plastic Laminate

Part N®OA5570

TOP PIN (Metal)
1/4" X 3-1/4"
Part Nc9C4000

TOP HINGE
1-1/2" Bet. Screws
For 1-1/4" Sq. Post
For 1/4" dia. Pin
Part Nc®C3610

TOP HINGE

DOOR ESCUTCHEON
For 7/8" Thick Doors
Part N®OCP425

BOTTOM HINGE
DOOR INSERT
Part NOCP325

BOTTOM HINGE
For 1-1/4" Sq. Post
Part No.

9F0214N

NYLON CAM
Part NOCP375

PINTLE
1/2" Dia.
Part N®OCP350

KEEPER BUMPER
INSWING
For 1-1/4" Sq. Post

Part N©OA5980

KEEPER BUMPER
OUTSWING
For 1-1/4" Sq. Post

Part N®®A5970

For use on Metal and Plastic Laminate

—

How to Identify Hardware Side view of Hinge

Top and Bottom hinges are more
easily identi®ed by measuring the
distanc&A" on your hinge and

comparing it té\" next to the part.

SLIDE BOLT LATCH DOOR STOP COAT HOOK & BUMPERCOAT HOOK DOUBLE PRONG

L
o
<
=
O
@
<
I
pd
O
=
—
o
<
o
—
L
=
@
—

5

2-3/4" Bet. Screws Part No. INSWING OUTSWING Screws Are Supplied with All Hardwar
Part N®OCP100 9A0412 Part Nd®6200B 3" Projection, 1-3/4" High
Part Nl®G0161

[ MetalOnly ] (

For use on Metal and Plastic Laminate

PIN (Metal)
3/8" Dia.

3-3/4"

Long

Part NOAM110

[ Laminate OnIQ

TOP P

IN (Metal)

3/8" Dia.
3-5/8" Long
Part NOAM125

n [ Bobrick Available]

KEEPER BUMPER
For Outswing
For 1-1/4" Sq. Post

Part NOAM415

KEEPER BUMPER
For Inswing
For 1-1/4" Sq. Post

Part NcOAM450

TOP HINGE

DOOR ESCUTCHEON
For 1" Thick Doors
Part NOAM150

BOTTOM HINGE
DOOR INSERT
Part NOAM240

INSWING
COAT HOOK & BUMPER
Part N®OAM325

BOTTOM HINGE
1-1/2" Bet. Screws
For 1-1/4" Sq. Post

Part N@AM280 Chrome
Part N®@A3293 Cast SS

A=1-5/8"

PINTLE
5/8" Dia.
Part NOAM270

OUTSWING
COAT HOOK
DOUBLE PRONG
Part NOAM350

TOP HINGE
1-1/2" Bet. Screws
For 1-1/4" Sq. Post

Part N@AM175 Chrome
Part N@A3793 Cast SS

A =1-5/8"

NYLON CAM
Part NOAM220

SLIDE BOLT
ASSEMBLY

2-3/4" Bet. Screws
Part NOAM500

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403

- Fax: 800-642-2406 - www.robertbr




Toilet Partition Hardware

STRIKE/KEEPER STRIKE/KEEPEROMTEC OUTSWIRGMTEC INSWINGREPLACEMENT

B

Replacement Hinge inser
USE WITH OUR HINGES JONLY

TOP

BOTTOM
REPLACEMENT
INTERGRAL HINGE SET

Part N©®A7005 HINGE SET

INSWING ALUMINUIMUTSWING ~ FLAT STOP FLAT STOP HINGE INSERTS
6" High ALUMINUM 6" High 6" High Part NOHHGB-TOP SLIDE LATCH
Part NOHSISA 6" High Part NOA5898  Part N©9A5798  Part NOQHHGB- BOTTOM ALUMINUM Included
Part NOHSOSA 3-1/2" between  part NQHHGB

av1IvVAY Ad3AINEA AVA LX3AN

TOP HINGE

1-1/2" Bet. Screws
For 1-1/4" Sq. Post
For 7/16" dia. Pin
Part N©OF0211N

TOP HINGE

DOOR ESCUTCHEON

For 1" Thick Doors
Part N®OF0316

TOP PIN (Metal)
3/8" Dia.
3-7/16" Long

Part NcOF0310

TOP PIN (Metal)
7/16" Dia.
3-3/16" Long

Part Nd®F0207N

BOTTOM HINGE
1-1/2" Bet. Screws

For 1-1/4" Sq. Post
Part NcOF0301 Chrome
Part NcOA3293 Cast SS

A =1-5/8"

BOTTOM HINGE
DOOR INSERT
For 1" Thick Doors
Part NoOF0317

KEEPER BUMPER

screws
Part N®OHLSLA

TOP HINGE

1-1/2" Bet. Screws

For 1-1/4" Sq. Post
Part N©F0300 Chrome
Part NcA3793 Cast SS

A=1-11/16"
SLIDE BOLT ASSEMBLY
2-3/4" Bet. Screws
9/16" Bar to Door Clearance
Part NcOF0302
RUBBER ONLY

Part NCOF0380 KEEPER BUMPER

For Outswing For Inswing INCLUDES PIN
For 1-1/4" Sq. Post For 1-1/4" Sq. Post When Ordering
Part NcOF0303 n Part NcOF0304 Specify Pin Type
KEEPER BUMPER

Part No. NYLON CAM PINTLE Straight or Offset
9F0227 Part N©OF0312 11/16" Dia. <

SET OF 2 HINGES SET OF 3 HINGES
8" High. Instructions8" High. Instructions

ADA HINGE SET

Included
Part NOHHGBADA

BOTTOM HINGE
For 1-1/4" Sq. Post

Part NcOF0214N
A=1-11/16"

4 1\
(New)Part Nc92500B

Part NOF0311
Brackets on
page 66-67

'R

For use on Metal

—

TOP HINGE
1-1/2" Bet. Screws
For 1-1/4" Rnd. Post

Part NeOFL100
A=1-7/16"

KEEPER BUMPER
For 1-1/4" Rnd. Post
Part Nc©OFL400

TOP PIN
3/8" Dia., 3" Long
Part N®OFL125

BOTTOM HINGE
1-1/2" Bet. Screws
For 1-1/4" Rnd. Post

Part NoOFL200
A=1-7/16"

COAT HOOK & BUMPER

Part NoOFL450

LATCH KNOB & COVER

(Concealed)

Part NOFL325

BOTTOM CAM HOUSING
FRONT

Part NAOFL275 Unplated
Part No.

9FL275CH Chrome plated

NYLON CAM
Part N®OFL225

KNOB & COVER
Part NOFL325A

TOP HINGE CASTING
For use on metal.

Part NOFL265

PINTLE
5/8" Dia.
Part N©OFL250

LATCH HOUSING F¢
CONCEALED LATCI

(Unplated)
Part N©OA6606

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

JdVMAYEVYH NOILILdVd 137101




56

Toilet Partition Hardware

'R

For use on Plastic Laminate

)

TOP HINGE

BOTTOM HINGE

TOP HINGE

BOTTOM HINGE ~ TOP PIN (Metal)

1-1/2" Bet. Screws 1-1/2" Bet. Screws DOOR ESCUTCHEON DOOR INSERT 3/8" I?ia.
For 1-1/4" Sq. Post For 1-1/4" Sq. Post For 7/8" Thick Doors Part NOFL775 3-1/2" Long
Part NC©OFL600 Chrome Part NEOFL700 Chrome Part NCOFL650 Part NOFL625
Part N®DA3793 Cast SS Part Nc9A3293 Cast SS
A =1-5/8"
2 A =1-5/8"
—
<>E KEEPER BUMPER KEEPER BUMPER SLIDE BOLT NYLON CAM PINTLE
< For Outswing For Inswing ASSEMBLY Part N©OFL725 15/32" Dia.
For 1-1/4" Sq. Post For 1-1/4" Sq. Post 2-3/4" Bet. Screws Part N®OFL750
E Part NOFLI00 Part NOFLO25 Part NOFLB0O
=
—
L
()] - -
> [ For use on Plastic Laminate ]
() TOP HINGE BOTTOM HINGE SLIDE BOLT LATCH KEEPER BUMPER KEEPER BUMPER
— 1-1/2" Bet. Screws 1-1/2" Bet. Screws 2-3/4" Bet. Screws For Inswing For Outswifgr
P For 1-1/4" Sq. Post For 1-1/4" Sq. Post 9/16" Bar t For 1-1/4" Sq. Post 1-1/4" Sq. Post
L Part No©1500P Chrome Part N©®1000P Chrome ar to Part Nc©20601 Part Nc®2060E
Part NdOA3793 Cast SS Part NcOA3293 Cast SS Door Clearance
= Part Nc®2000P
A=1-11/16" A=1-11/16"
( For Use on Metal )
( Older Style ] ( Newer Style )
TOP HINGE BOTTOM HINGE KEEPER BUMPER TOP HINGE

1-1/2" Bet. Screws
For 1-1/4" Rnd. Post
Part Nc®1500B

Part Nd©1006B

1-1/2" Bet. Screws
For 1-1/4" Rnd. Post
Part Nc®1000B

LATCH KNOB & COVER
(Concealed 2 pin style)

Part Nc®2500A

NYLON CAM
Part Nc©1002B

TOILET PARTITION HARDWARE

((New)Part Nc92500B

INCLUDES PIN)
When Ordering
Specify Pin Type

Straight or Offse

J

TOP HINGE CASTING
For Metal Doors

Part N®OK0245

Robert Brooke & Associates -

58

LATCH KNOB & COVER

(Concealed)

Part Nd92000C

For Inswing
and Outswing
For 1-1/4" Sq. Post

TOP PIN

3/8" Dia.

3" Long

For 91500B &
91500P

Part Nc©91503B

LATCH KNOB
Part Nc@2500C wi/straight pin
Part NcOA8190 w/offset pin

1-1/8" Bet.Screws
For 1-1/4" Rnd. Post
Part Nc96320A

Part N9256(E A=1-11/16"
A =1-5/8"
BOTTOM CAM BOTTOM HINGE
HOUSING et 1-1/8" Bet. Screws
KEEPER BUMPER >tal, For 1-1/4" Rnd. Post
For 1-1/4" Rnd. Post Part No. 3/8" Dia.
or - nd. Pos 91005B Unplated 3-3/4" Long Part NcO6319A BOTTOM CAM &
Part Nc©2060B
Part No. Part No. A=1-11/16" PINTLE
91005BC Chrome Plated 91504B Part N@6319E
BUMPER KEEPER
For 1-1/4" Rnd. Post
PINTLE
11/16" Dia. Part NcOK0152

LATCH KNOB
(Concealed)

Part Nc96318A Chrome
Part NeOHH101 Cast SS

LATCH COVER TOP PIN
(Concealed) 1/4" Dia.

Part N©96318B Chrome 2-7/8" Long
Part N®OHH201 Cast SS Part Nc96320B

LATCH KNOB
(Concealed)

Part Nc96318AA Chrome
Part N@HH111 Cast SS

1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.



Toilet Partition Hardware

TOP HINGE
1-1/2" Bet. Screws
For 1-1/4" Rnd. Post

Part N@G0225
A=1-7/16"
BOTTOM HINGE

1-1/2" Bet. Screws
For 1-1/4" Rnd. Post

Part Nd@G0230
A=1-7/16"

TOP HINGE CASTING

Part Nl®G0220

BOTTOM CAM
HOUSING)

Part No.

9G0240 unplated
Part No.
9FL275CH
Chrome Plated

PINTLE
5/8"

Part Ne@G0237

NYLON CAM
Part Nl®@G0232

PIN
3/8" Dia. x 3" Long
Part N©@G2252

TOP PIN (Metal)
3/8" Dia. x 3-3/4" Long

Part Na9G2253

\.

ADA DOOR KIT
Part No.

9G4000A Chrome Plated

J

COMPLETE STANDARD D

J

5¢

KIT. INCLDS. SAFETY SCR
Part No.

9G4000 Chrome Plated

AAN

/

For use on Metal

KEEPER BUMPER
For Outswing
For 1-1/4" Rnd. Post

Part N®@GO15E

KEEPER BUMPER
For 1-1/4" Rnd. Post

Part Nd®@G150C

KEEPER BUMPER
For Inswing
For 1-1/4" Rnd. Post

Part N©O@G0151

LATCH KNOB & COVER
(Screw Fastened/Concealed)

Part N@G0139S

SLIDE BOLT LATCH

(Surface) 3-1/2" Bet. Screws
5/8" Bar to Door Clearance

Part N©OG0136

LATCH KNOB & COVER
(Screw fastened)
Part N@GO0139AS

LATCH KNOB & COVER

(Concealed)

Part N@G0139 - Chrome Plated

Part N®OA6148 - Cast SS

SLIDE BOLT LATCH
With 3/8" Door to
Offset Bar Clearance
Part Nd@G0137

LATCH KNOB & COVER

_|
>
=<
O
o
-
<
I'I'I
Py
>
>
<
>
=
>
(9]

Part N®@GO0139A - Chrome Plated

Part N@A6158 - Cast SS

For use on Plastic Laminate

TOP OR BOTTOM HIN&GEEPER BUMPER
1-1/2" Bet. Screws
For 1-1/4" Sq. Post
Part NOG631A

For 1-1/4" Sq. Post
Part NOG631H

WRAP AROUND
TOP HINGE

For 1-1/4" Rnd. Post
Part No.

9HH350 Chrome
9HH360 Cast SS

UPPER DOOR
CASTING

Part No.

9HH325 Unplated

Part No.
9HH326 Cast SS

LOWER DOOR
CASTING

Part No.

9HH525 Unplated

Part No.
9HH526 Cast SS

aU° TRIM
For Inswing and OutswiD@®OR INSERT
Part N@G631B

TOP HINGE
Part Nc@HH300

SLIDE BOLT LATCH
2-3/4" Bet. Screws
Part No.

9HH125 Chrome
9F0302SS Cast SS

LATCH KNOB
Part No.
9HH110 Chrome

9HH111 Cast SS

HINGE PIN (Metal)
3/8" Dia. x 3-7/16" Long

(New)
LATCH COVER & KNOB
Part NOG631F

BOTTOM HINGE
Part NcOHH500

Part N®@G631C
INCLUDES PIN
When Ordering
CAM SET (Plastic) Specify Pin Type
Part NOG631E
Straight or Offsé
WRAP AROUND KEEPER BUMPEHR
BOTTOM HINGE For 1-1/4" Rnd. Po
For 1-1/4" Rnd. Post Part No.
Part No. 9HHB800 Chrome
9HH550 Chrome 9HH810 Cast SS
9HH560 Cast SS
NYLON CAM TOGGLE & SCREW TOP PIN
Part N®OHH700 For Hinges Part N®OHH400
Part N®OHH450
LATCH KNOB LATCH COVER PINTLE
Part No. Part No. 1/2" Dia.

9HH100 Chrome
9HH101 Cast SS

9HH200 Chrome
9HH201 Cast SS

Part NOHH600

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

JdVMAYEVH NOILILdVd 137101

59



G0

m
<
_
<
>
<
>_
o
L
>
—
L
()]
z
()
|_
>
L
=

Toilet Partition Hardware

'

For use on Metal )

TOP HINGE
1-1/8" Bet. Screws
For 1-1/4" Rnd. Post

Part Nd®K0240
A=1-11/16"

BOTTOM CAM HOUSING
Part NcOK0340

BOTTOM HINGE
1-1/8" Bet. Screws

For 1-1/4" Rnd. Post
For 9KCAMM & 9K0231

Part Nc®K0230
A=1-11/16"

TOP HINGE CASTING
For Metal Doors

BOTTOM CAM
Part NOKCAMM

DOOR STRIKE & KEEPER
For 1-1/4" Rnd. Post

Part N©OK0152

BOTTOM CAM & PINTLE
Part NOK0231N TOP PIN (PLASTIC)

1/4" Dia. x 2-3/4" Long

Not Plated Part Nc9K0245 Part NcOK241M
( For use on Plastic Laminate )
TOP HINGE BOTTOM HINGE BUMPER KEEPER BOTTOM HOUSING
1-1/2" Bet. Screws 1-1/2" Bet. Screws For 1-1/4" Sq. Post Part NcOK1340
For 1-1/4" Sq. Post For 1-1/4" Sq. Post Part NOK1152
Part NcOK1240 Part NcOK1230
A=1-11/16" A=1-11/16"
TOP PIN BOTTOM CAM DOOR LATCH INSIDE
1/4" Dia. X 2-7/8" Long Part NOKCAMP MECHANISMzKIT
Part N©OK241P Part NcOK0253
( For use on Plastic Laminate and Metal )
LATCH KNOB LATCH COVER LATCH KNOB & COVER PINTLE
(Concealed) (Concealed) 5/8" Dia.

Part Nc@K0250

Part NdOK0255

Part N®OK0250A Part N©OK0231

For use on Plastic Laminate and Metal ]

LL
'
%E
(@)
EE TOP HINGE BOTTOM HINGE TOP HINGE BOTTOM HINGE
T 1-1/2" Bet. Screws 1-1/2" Bet. Screws DOOR ESCUTCHEON DOOR INSERT
For 1-1/4" Sq. Post For 1-1/4" Sq. Post For 7/8" Thick Doors Part NcOCP325
Pz Part Nc@CP400 Part N©@CP300 Part Nc@CP425
©) A=1-9/16" A=1-9/16"
=
|_
o KEEPER BUMPER KEEPER BUMPER SLIDE BOLT LATCH TOP PIN (Metal)
< For Outswing For Inswing 2-3/4" Bet. Screws 3/8" Dia.
o For 1-1/4" Sq. Post For 1-1/4" Sq. Post Part N®OCP100 3-1/2" Long
— Part N®@CP200 Part N®@CP250 Part NeOCP4s0
LLl
—
- NYLON CAM PINTLE
Part N©OCP375 1/2" Dia.

Part NOCP350

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

G0



Toilet Partition Hardware

( For use on Metal )
TOP HINGE BOTTOM HINGE BOTTOM CAM TOP HINGE CAS
1-1/2" Bet. Screws 1-1/2" Bet. Screws HOUSING Part N©OC3513
For 1-1/4" Rnd. Post For 1-1/4" Rnd. Post Part No. =
Part N9C3503 Part N9C3004 9C0140 Unplated Q

= 1-7/16" A=1-7/16" part No.

A=1-T118 91005 BC —
Chrome PLated :(U>
. <

LATCH COVER & KNOB LATCH COVER & KNOB
KEEPER“BUMPER (Concealed) Part NcDOC300A I'?'l
For 1-1/4" Rnd. Post Part Nc90C300 L
Part Nc®0C410 —
<
m
Py)
SLIDE BOLT LATCH NYLON CAM PINTLE NYLON CAM <
Part Nd@0C400 Part N@C3002 5/8" Dia. Pintle Combination >
Part N©@C3006 Part Nd®C0235 <
>
—
>
99)

TOP PIN (Metal) TOP PIN (Metal)
3/8" Dia. 3/8" Dia.

3-3/4" Long 3" Long

Part NA®®C3505 Part Nl®C3504

[If in Doubt Please Send a Sar%ple

KEEPER BUMPER
(Porc.)

Part NcOOT317

SLIDE BOLT/LATCH
2-3/4" Bet. Screws
3/8" Bars to Door
Clearance

Part NoO0OT160

Vish (orr Wiekaits
G
[kt - 642 = 2403

fior Grea olor Ghere

TOP & BOTTOM HINGE
1-3/8" Bet. Screws

Part N®©0T100-110

LATCH / KEEPER
BUMPER KIT

Part No90T390

D

COAT HOOK & BUMPER
3-3/8" Projection

2-3/4" High

Part Nd®0T285

KEEPER BUMPER
Part Nd®0T116

BUMPER KEEPER
Part No®0T120

SLIDE BOLT/LATC
(Concealed)

Part Ne©®0T290

KEEPER BUMPER
(18 GA))
1-5/8" Bet. Screws

Part N®©0T316

JdVMAYVH NOILILdVd 137101

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.




) Toilet Partition Hardware

( For use on Metal ]
TOP HINGE BOTTOM HINGE ( )
1-1/4" Bet. Screws 1-1/4" Bet. Screws OBSOLETE OBSOLETE
For 1-1/4" Rnd. Post For 1-1/4" Rnd. Post TOP HINGE BOTTOM HINGE
Part Nc9S7780 Part Nc@S7770 Replaced with Eeptlzccgg ;N7It7h0
?E A=1-9/16" A=1-9/16" Part NcS7780 N
—
— J
< :
<C TOP HINGE CASTING Keeper Bumper OBSOLETE OBSOLETE
> For Metal Doors For 1-1/4" Rnd. Post TOP HINGE BOTTOM HINGE
o Part Nc9S8044 Part Nc@S8801 Replace with Replace with
LLl Part NdOS7361 Part Nd®S7360
>
—
L \ J
O BUMPER KEEPER e 3\
2 For Latch For Latch LATCH KNOB, COVER & PIRAIT N©S8819
2" Bet. Screws 2" Bet. Screws
O Part Nc®S2400 Part N9S2401
—
P .
LU Latch Knob Latch Pin
= L Latch Cover )
STOP SLIDE BOLT/LATCH N
1-1/2" Bet. Screws 2-5/8" Bet. Screws| STAINLESS STEEL LATCH KNOB, WITH SCREW, CRVER &I3R3821
Part Nd@S2704 Part N®S7431 O
Latch Kno@ Latch Cover Latch Pin
(. J
H KEEPER BUMPER i_\ KEEPER
For Inswing 1-1/2" Bet. Screws e 2
For 1-1/4" Sq. Post Part NOS2701 LATCH KNOB & COVERT NO@S8820
Part N9S410T Notched
POST TOGGLE & SCREW
Ll Part NcOS5860
o ? ) THROW LATCH
< 3-1/2" Bet. Screws BOTTOM POWER BEARING PLASTIC PIN
Part N©©S7531 (Concealed)
% A N@OSTS3 For 955862 & 957770 F;)r 7361, 5861 & 7780 - g
3/8" Dia.
0 Part Nd@S7961 2-1/2" Long Brackets on
< Part Nc9S7774 page 66-67
I
g For use on Plastic Laminate and Metal )
l: TOP HINGE BOTTOM HINGE KEEPER BUMPER
— 1-1/4" Bet. Screws 1-1/4" Bet. Screws For 1-1/4" Sq. Post
o For 1-1/4" Sq. Post For 1-1/4" Sq. Post Part No9S8861
< Part Nl®S7361 Part N@S7360
AR A=1-1/2" A=1-1/2"
—
LLl
-l
E BOTTOM POWER BEARING COAT HOOK & BUMPER TOP DOOR HINGE COAT HOOK & BUMPER
(Concealed) 1-1/8" bet. Screws ESCTCHEON 718" bet. Screws
For 957360 Part N@S7810 Part NS6101 Part Nd9S6810B

Part N®S6100

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.




Common Toilet Partition Hardware

'

Fasteners Included + Chrome Plated Zamac Unless Indicated ]

SLIDE BOLT ASSEMBLY
2-3/4" Bet. Screws
9/16" Bar to Door Clearance

Part NcOF0302 - Chrome

Part NcOF0302SS - Cast
Stainless Steel

SLIDE BOLT LATCH
2-5/8" Bet. Screws

Part N@S7431

0 SLIDE BOLT LATQHS THROW LATCH
. Part No. Chrome Plated Bra
9HAP68 CAST SS 3-1/2" Bet. Screws

Part N@S7531

1-1/2" W x 3-1/4" L
2-3/4" hole spacing

SLIDE BOLT LATCH
with Indicator for

1A" doors

2-3/4" bet. Screws
Part No.

9G2000 Cast SS

DOOR PULL
3-1/21" Bet.
Screws

Part NoOA0540

DOOR PULL
2-3/4" Bet.
Centers

Part N©®A0620

ADA DOOR PULL

3" High x 5-1/8" Long
PART NO|
9A6251
9A0625

DOOR PULL
4" Bet. Centers
Part NoOA0171

DOUBLE DOOR PULL
6" Bet. Centers for

1" doors

Part N®OHHO001

Chrome Plated

DOOR PULL
2-5/8" Bet.
Centers

Part NoOA7401

SLIDE BOLT LATCH
2-3/4" Between Screws
3/8" Bar to Door Clearance

Part Nc®0T160 - Chrome

Part N®®A5033 - Cast
Stainless Steel

STAINLESS STEEL

1-7/8" Between Screws
1/8" Bar to Door Clearance
Part N©A7055

* See Stainless Steel
section for Keeper/stop

SLIDE BOLT LATCH
1-1/2" W x 3-1/4" L
2-3/4" bet. Screws
Part N®@A2899
Chrome Plated

Part N®OA6983 CAST SS

Stamped Stainless Ste
Can be used for outswin
if door and post are equal. Part Nc9S5701
Part N®WA0104

INSWING LATCH & ST HEAVY DUTY THR LATCH & KEEPER
e LATCH WITH KEEP Stamped Stainless St¢

CHROME PLATED BRASS
CAST STAINLESS STEEL

SLIDE BOLT LATCH
3-1/2" Between Screws
5/8" Bar to Door Clearance

Part Nl@G0136 - Chrome

Part N®®A5053 - Cast
Stainless Steel

SLIDE BOLT LATCH
3-1/2" Between Screws
3/8" Door to offset bar
clearance

Part N®®G0137 - Chrome

Part N®OA5063 - Cast
Stainless Steel

SLIDE BOLT LATCH SLIDE BOLT LATCH

Aluminum 3-1/2" Aluminum 3-1/2"

Between Screws Between Screws

Part N©OHLSLA Part Nc9A0102
f_'észVb‘}(Tf_le,, . * PLEASE CHECK WITH YOUR LOCAL
hole spacing TO VERIFY ADA REQUIREMENTS.

Chrome Plated Bras: Part NcOAO106

HVAVY AJJAIN3d AVd LX3N

LATCH WITH KEEH
Indicator an Door P

Part NA®AG6069

av

Chrome Plated Zamac
PART N(. EDGE TYPE & DOOR SWING

CONCEALED LATCH FIX IT KITS 9A1116
To cover up Concealed Latch Holes 9A1117

- For Powder Coated Steel & Plastic Laminate Doof§ 118
- For 1" Thick Doors - Round Edge for Powder Coatéd119
- Steel and for 1" Square edge for Plastic Laminate

- For 1-1/4" Pilasters

Stainless Steel
- All Hardware included PART N{. EDGE TYPE & DOOR SWI

Round Edge Inswing
Round Edge Outswing
Square Edge Inswing
Square Edge Outswing

- SlideBolt Latch 9A1122
- Inswing or Outswing Hardware(Keeper Bumper) 9A1123
- Stainless Steel "U" Shape cover for both sides ¢* 177,
- All Screws Included 9A1121

DOOR STOP
2" High
Part N®@A0412

COAT HOOK & BUMPER
2-3/4" Projection,

2-1/4" High

Part N®OHH900

Part NOHH900SS - Cast SS

COAT HOOK & BUMPER
3-1/2" Projection

2-3/4" High

Part N®@G0160

DOOR STOP %

2-1/2" High x 4-1/4" Long

PART NO/|

Round Edge Inswing

Round Edge Outswing
Square Edge Inswing
Square Edge Outswing

COAT HOOK DOUBLE PH
3" Projection,
1-3/4" High
Part NeOG0161

COAT HOOK & BUM
3" Projection,

2" High

Part N©@S7810

COAT HOOK & BUMH
3-1/8" Projection,
2-1/8" High

Part Nc©96200B

PILASTER MOUNTED

d4dVMAYVYH NOILILEVd 137101

MATERIAL

9A4153

9A4151 |POLISHED STAINLESS STEE

CAST STAINLESS STEEL

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.




Common Toilet Partition Hardware

R

'

Fasteners Included, Chrome Plated Zamac Unless Indicated ]

718" Thick Doors 1-1/4" Thick Pilast}rs[ 1" Thick Doors 1" Thick Pilasters] [ 1" Thick Doors 1-1/4" Thick Pila%ers_

'

m
<
—l
<C
=
<C
>
(Al TOP PART ASSEMBLYBOTTOM PART ASSEMBI®P & BOTTOM PART ASSEMBEYPART ASSEMBLEOTTOM PART ASSEMBIREPLACEMENT INTERGRAL
BN part NOA3020 Chrome Part Nc®A3010 Chrome  Part NAA3780 Chrome Part NcOA3720 Chromeart Ne9A3710 Chrome ~ HINGE SET
> Part N©OA3023 Cast SSPart NcOA3013 Cast SS Part Nc®A3153 Cast SS Part NcOA3043 Cast S8art NcOA3033 Cast SS  Part N©®A7005
-
m  ADA Continuous Piano and Full Length Surface Mounted Hinges ~ Vault Hinge -
o
A 1
2 Can be Raised up 3/8" for Emergency Entry
'a) - Strengthen your Door - Provide More Privacy - Made of Stamped Stainless Steel -
; 16 Gauge - 1/8" Pin 16 Gauge - 1/8" Pin 14 Gauge - 1/4" Pin
L 54" & 57-1/2" lengths 71-1/2" length 54-1/2" & 57-1/2" lengths
= with Spring Close with Spring Close with Cam Close
PART N§.DOOR SWING  LENGTH PART N§.DOOR SWINIG  LENGTH PART NG LENGTH
9A70C1 RH-OUT,LH-IN 57-1/2i 9A7759| RH-INLH-OUT 71-1/2( 9A7789| 57-1/2i
9A70C. LH-OUT,RH-IN  57-1/2i 9A7769| LH-IN, RH-QUT 71-1/2" 9A7599| 54-1/2i
9A70C. RH-OUT, LH-IN 541 VAULT HINGE SET
9A70CH LH-OUT,RH-IN  54i HEAVY DUTY CAST STAINLESS STEEL
Part Nd®A7813 Use for 3/4" to 1" door
Without Spring Close Part NcOA7803 )
PART b DOOR SWING  LENGTH Use For 1/2" Door - 1/2" Pilaster
9A70C3| ALL [ 571220 part NcOA7853

Use for 1/2"Door - 3/4" to 1" Pilaster

Ll ( Medium Duty ] ( Heavy Duty )
'
< ROUND BARREL SQUARE BARREL
E el oconsueaio. el > D00R S 1o
& d 1-1/2 STAINLE$BOR RIGHT HAND 9A7051
PLATED BRAS®JTSWING OR LEFT e R L pt
4 1-1/2" HAND INSWING HAND INSWING
< - o e AN o 0B2 FOR LEFT HAND| 9A7052
I HAND INSWING OUTSWING OR RIGHT
. 2-3/8" HAND INSWING
=z 2-7/16
Q STAMPED |FOR RIGHT HANI) 9A7043
STAINLESYOUTSWING OR LEFT
|: - STEEL |[HAND INSWING ROUND BARREL
= 1-1/2" FOR LEFT HAND | 9A7033 MATERIAL  DOOR SWINGART NO.
x OUTSWING OR R|GHT — CAST |FOR RIGHT HAND 9A7SS1
< - HAND INSWING 1-1/2" STAINLES®UTSWING OR LEFT
o ‘ ‘ STEEL |HAND INSWING
— 2-7/16" FOR LEFT HAND| 9A7SS2
L STAMPED |FOR RIGHT HANI) 9A7103 Sﬁﬁﬁmg‘v;v%% IGHT
. STAINLESYOUTSWING OR LEFT 2-3/8"
= - STEEL |HAND INSWING
E 1-1/2" FOR LEFT HAND | 9A7093 DOOR SWING SUPPLIED WITH FASTENERS
SXIESVIV,\'I@SV&%R'GHT FOR 1" DOORS & 1-1/4" POSST.
2.5/16" ‘ OTHERS SCREWS AVAILABLE

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.




Common Toilet Partition Hardware

'

Fasteners Included, Chrome Plated Zamac Unless Indicated ]

KEEPER BUMPER
For Inswing
1-1/2" bet.screws

PART Nd.POST SIZE

CHROME PLATED

9A5620 | i
9F0304 |  1-1/4"
CAST STAINLESS STEEL
9A5623 1"
9A5113|  1-1/4"

KEEPER BUMPER

For Inswing

1-9/16" bet. screws
Flat surface type

Part Ne®0T116 Chrome
Part NcOA5143 Cast SS

KEEPER

STOP

KEEPER BUMPER

For Inswing OR Outswing

1-1/2" bet. screws
Flat surface type

Part NdA5240 Chrome
Part Nd®A5243 Cast SS

ANY THICKNESS POST
1-1/2" Bet. Screws

Inswing use:

Keeper -

Part N®©S2401J Chrome
and

Stop:

Part Nd®S2704 Chrome
Part Nd®A5173 Cast SS

Outswing ONLY use:
Part Nd@S2704 Chrome

CAST STAINLESS STEEL
OUTSWING KEEPER BUMPER

TYPE

| PARTNo. FOR

LAMINATE 9HAPB4 1-1/4"

POLY

PHENOLJC 9HAR58

9HAPH6 1"
3/4"

CAST STAINLESS STEEL
INSWING KEEPER BUMPER

TYPE

PART NO. FOR

LAMINATE 9HAPB5 1-1/4"

POLY

PHENOLJC 9HAH59

9HAPY7 1"
3/4"

KEEPER BUMPER

For Outswing
1-1/2" bet.screws

PART NgtPOST SIZE

KEEPER BUMPER
(';\ For Inswing

1-1/2" bet.screws

PART Nd.POST SIZE

CHROME PLATED

9A5720| i 9A5820 | i
9F0303| 1-1/4" 9S410T |  1-1/4"
CAST STAINLESS STEEL CAST STAINLESS STEEL
9A5723 1" 9A4903 3/4"
9A5213|  1-1/4" 9A5823 g
9A5343 |  1-1/4"

KEEPER BUMPER
For Outswing
1-1/2" bet. screws

Flat surface type

STOP
KEEPER

Part Nd®A5260 Chrome
Part NdA5263 Cast SS

ANY THICKNESS POST

1-1/2" Bet. Screws

Inswing use:

Keeper -

Part Nc9S2701 Chrome
Part NdQA5183 Cast SS
and

Stop:

Part Nc@S2704 Chrome
Part Nd9A5173 Cast SS

Outswing ONLY use:
Part Nc9S2704 Chrome

KEEPER BUMPER
For Outswing
For 1-1/4" Sq. Edge

Part No.

9A2354 CHROME

KEEPER BUMPER

For Inswing

For 1-1/4" Sq. Edge

Part No.
9A2353 CH

ROME

CHROME PLATED

KEEPER BUMPER
For Inswing

1-1/2" bet. screws
Flat surface type
Part Nc9A5985 Chrome
Part NdOA5283 Cast SS

KEEPER BUMPER

For Outswing
1-1/4" Post

Part NoOA5970 Chrome

KEEPER

KEEPER BUMPER
For Inswing and Outswing
for Concealed Latch

PART Nd.POST SIZE

sTOPBIt N®A7057

Part NdOA5973 Cast SS

KEEPER BUMPER
Inswing or Outswing
for Concealed Latch
1-1/4" Post

Part N®®@F0227 Chrome

KEEPER BUMPER
Inswing or Outswing
for Concealed Latch
1-1/4" Post

Part Nd®K1152 Chrome

0 KEEPER BUMPER
For Outswing
Flat Surface

CHROME PLATED

9A5730 | i
92560E |  1-1/4"
CAST STAINLESS ST

9A5733 1"
9A5233| 1-1/4"

ANY THICKNESS POS
1-7/8" Bet. Screws

Inswing use:

Keeper Part N®@A7056
and

Stop Part Nl®A7057

Outswing ONLY use:

KEEPER BUMPER
For Inswing
1-1/4" Post

Part N®®A5980 Chrome

Z
U
>
_|
>
_<
O
M
r
<
M
Py
=<
>
<
>
—
>
o

Part NdOA5983 Cast SS

Part N®®A5640 Chrome
Part NdOA5643 Cast S

KEEPER BUMPER
For Inswing
Flat Surface

Part NdOA5990 Chrome|
Part NdDA5653 Cast S

Fasteners Included, Chrome Plated Zamac Unless Indicated ]

KEEPER BUMPER

KEEPER BUMPER

KEEPER BUMPER

KEEPER BUMPER

For Inswing 1-1/4" Post
Part Nl®@G0151 - Chrome

&

For Inswing 1-1/4" Post
Part NcOA5330 - Chrome

For Outswing 1-1/4" Post
Part NOGO15E - Chrome

KEEPER BUMPER
For Inswing 1-1/4" Post

Part NcA5580 - Chrome
Part NdQA5583 - Cast SS

KEEPER BUMPER
For Inswing or Outswing 1-1/4" Post
7/16" w x 3/4" h slot.

Part Nc®2060B - Chrome

Part Nd®A5513 - Cast SS

KEEPER BUMPER

For Inswing or Outswing 1-1/4" PosKkEEPER BUMPER

1/4" w x 3/4" h slot.
Part Nd®0C410 - Chrome

For Inswing or Outswing 1-1/4" Rnd
Part NoOA5590

For Outswing 1-1/4" Pog
Part Nd®A5570 - Chrom
Part Nd®A5573 - Cast S

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

JdVMAEVYH NOILI1LdVd 137101

63



6G

NEXT DAY DELIVERY AVAILAB

L
x
<
=
Q
x
<
T
z
O
=
|_
<
o
l—
L
—
O
|_

6G

Common Toilet Partition Hardware

"U" BRACKET

1-1/2" high x 1-3/8" Long
PART NO| THICKNESS
9A1914 | i

TWO-EAR BRACKET

1-1/2" high x 2-3/4" Long
PART NO| THICKNESS
9A1754 | 1"

ONE-EAR BRACKET
1-1/2" high x 2-3/4" Long

PART NO| THICKNESS
9A1644 3/4"
9Al1764 1"
9A1844 1-1/4"
"U" BRACKET
3" high x 1-3/8" Long
PART NO| THICKNESS
9A2304 1"

ALCOVE CLIP ALCOVE CLIP SETS
1" Panel to (2 Per Set) Used to join
1-1/4" Pilaster Panel to Pilaster edge
Part NcOAO155 to edge. 4 Sets of Two

ALCOVE CLIP
For same thickness SS
2-5/8" X 1-1/2"
Part No9A8369

required per Panel.
Part Nc®A8340

ANGLE BRACKETBWO-EAR BRACKET
1-3/4" x 1-3/4"
Part NcOA0160

1-1/2" high x 2-1/2" Long
PANEL/PILASTER
PART NO| THICKNESS

1-1/2" h

ONE-EAR BRACKET

PANEL/PILASTER
PART NO| THICKNESS

ayo BRACKET
1-1/2" high x 1-3/8" Long
PANEL/PILASTER
PART NO| THICKNESS

igh x 2-1/2" Long

9A0162 3/4" 9A0164 3/4" 9A0189 3/4"
9A0163 7/8" 9A0165 7/8" 9A0190 7/8"
9A0175 1" 9A0176 1" 9A0191 1"

9A0183 1-1/4" 9A0184 1-1/4" 9A0194 1-1/4"

TWO-EAR BRACKET

1-1/2" high x 3 1/2" Long
PART NO| THICKNESS
9A1280 g
9A1330 1-1/4"

SINGLE-EAR BRACKET
1-1/2" high x 3 1/2" Long

PART NOI THICKNESS

SCREEN BRACKET

FOR ANY THICKNESS SCREEN
1-1/2" high x 3-1/2" long

Part Nc®A1320

FLEXI-MOUNT
URINAL SCREEN BRACKET
for 1/2" and 1" urinal screens.

9A1270 1" 1-1/4" high x 3-1/2" long.
9A1310 | 1-1/4"  SCREEN BRACKET Part Ne®a2001 = 1" thick
PART NQTHICKNE$SENGTH
9AWBZ§ 11/4" 6"
9AWB2 1" 12"

TWO-EAR BRACKET
3" high x 2-3/4" Long
PART NO| THICKNESS
9A2264 | i

ONE-EAR BRACKET
3" high x 2-3/4" Long
PART NO| THICKNESS
9A2274 | i

9A2294 1-1/4"

END PLUG
For 1-1/2" x 1"
Rectangular Tubing

Part NcRA0666

END PLUG

Overall Size 1" X 2"
Anti-grip Tubing
Part NIOA0667

BRACKET

For 1-1/4" Thick Headrail
Part NdA0213

For 1" Thick Headrail
Part NdOA0215

"L" TYPE PARTITION BRACE - Stainless
Steel, Floor Mounted Unit supports 1/2" to
1-1/2" thick panels. Height is adjustable.

Part NcOAB005 - Adjusts 11-1/2" to 14"
Part NcOA85183 - Adjusts 9-1/2" to 12"
Part NdOA85193 - Adjusts 7-1/2" to 10"

"U" TYPE PARTITION BRACE - Stainless
Steel, Floor Mounted Unit supports 1/2" to
1-1/4" thick panels. Height is adjustable.

Part N®®A8503 - Adjusts 11-1/2" to 14"
Part N®®A85083 - Adjusts 9-1/2" to 12"
Part N®@A85093 - Adjusts 7-1/2" to 10"

Split End

ROUND EDGE PILASTER SHOE
One End Split for Easy Installation.
1-1/4" x 2", 3", 4", 5", 6", 7",

8", 10", 12", 16", 18", 22" & 24"
Part N®A0308

3" HIGH BRACKETS AVAILA

URINAL SCREEN BRACKI
3-1/2" LONG AVAILABLE

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406

FLOOR SHOE
For 1-1/4" x 1-1/4" Post

Part NdOA1763

Split End

SQUARE EDGE PILASTER SHOE
1-1/4"x 2", 3", 4", 5", 6", 7"

8",9", 10", 11", 12" & 14",

16", 18", 20", 22", 24"

Part NAOA0306

FLOOR SHOE
For 1-3/4" x 1-3/4" Post

Part NcOA0304

ALUMINUM SQUARE POST ONLY
For 1-1/4" x 1-1/4" x 10©

Part NdA1762

ALUMINUM SQUARE POST ONLY
For 1-3/4" x 1-3/4" x 10©

Part NcOA0303

- www.robertbrooke.




Common Toilet Partition Hardware

<

Very Popular
PILASTER ANCHOR PACK

NUMBEFPILASTER, ; o 60 FOR 1-1/4" & 1-1/8" POPULAR FOR 3/4" | _
TO USE WIDTH - THICK AND UP TO 6" AND THICKER AND UP For Plastic Laminate
1 > | 9A07192 WIDE PILASTERS TO 6" WIDE PILASTERS ﬁlltNecedsZarthcrelwsl, "
1 Part NcOA0309 Part NCOA1056 uts and Anchors Include
; = ;1' o 9123333 Part NEOA0310
o

=z

=

>

ONE-EAR BRACKET TWO-EAR BRACKET "U" BRACKET ONE-EAR HINGED BRAGKE
1-1/2" high x 2-1/2" Long 1-1/2" high x 2-1/2" Long 1-1/2" high x 1-1/2" Long 3" high x 2-1/2" Long )
PART NJTHICKNESS PART NO.THICKNESS PART NQTHICKNESS PART NJ THICKNES§>
9A1649 3/4" 9A1629 3/4" 9A1899 3/4" 9A1359 | i <
9A1659 7/8" 9A1639 7/8" 9A1999 7/8" 9A1369| 1-1/4" Hlw)
9A1769 il 9A1759 i 9A1919 i m
9A1849 |  1-1/4" 9A1839|  1-1/4" 9A1949 |  1-1/4" —
<

~ CastStainless Steel Brackets |
Py

ONE-EAR BRACKET TWO-EAR BRACKET "U" BRACKET <

1-1/2" high x 2-1/2" Long 1-1/2" high x 2-1/2" Long 1-1/2" high x 1-3/8" Long >

PART NO| THICKNESS PART NO| THICKNESS PART NO| THICKNESS R

9A1643 3/4" 9A1623 3/4" 9A1893 3/4" >

9A1653 7/8" 9A1633 7/8" 9A1903 7/8" —

9A1765 i 9A1753 i 9A1913 il >

9A1843 1-1/4" 9A1833 1-1/4" 9]

3" HIGH BRACKETS AVAILABLE B URINAL SCREEN BRACKETS 3-1/2" LONG AVA

( Aluminium ] Stamped Stainless Steel )
ALUMINUM "U" BRACKET 1-3/8" Long STAINLESS STEEL "U" BRACKET 1-3/8" Long
1" PANEL/SCREEN 1" PANEL/SCREEN
HEIGHT | PART NO. HEIGHT | PART NO.
54" 9A2794 54" 9A2799
57 9A0191C 57 9A2369 3
ALUMINUM ONE-EAR BRACKET 2-3/4" Long STAINLESS STEEL ONE-EAR BRACKET 2-3/4" Long ':
3/4" PANEL/SCREENL" PANEL/SCREENI-1/4" PILASTER/SCREEN 1" PANEL/SCREEN  1-1/4" PILASTER/SCREEN{lIgY
HEIGHT PART NO._HEIGHT PART NO. HEIGHT| PART NO. HEIGHT| PART NO. _ HEIGHT| PART NO. —
57" | 9A4364 54" | 9A2878 57" | 9A0184C 54" | 9A2879 57" | 9A2359 -
57" | 9A0176C 57" 9A2339 >
ALIMINUM TWO-EAR BRACKET 2-1/2" Long STAINLESS STEEL TWO-EAR BRACKET 2-1/2" Long 3
1" PANEL/SCREEN 1" PANEL/SCREEN —
HEIGHT | PART NO. HEIGHT | PART NO. -
41" 9A2888 41" 9A2609 @)
54" 9A2868 54" 9A2869 Z
57" 9A0175C 57" 9A2349 T
>
A'-UM'N%“&;L'Ei%@l.cl.'ﬁgl\lzem" Long STAINLESS STEEL "H" BRACKET 1" Long g
HEIGHT | PART NO. 1" PANEL/SCREEN
57" [ oA2684 HEIGHT | PART NO. é
54" | 92859 >
Py
ALUMINUM "H" BRACKET 1"L m
ong
1" PANEL/SCREEN
HEIGHT | PART NO.
54" | 9A28s8

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, MI 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.




68

Common Toilet Partition Hardware

SLIDE LATCH DOOR PULL KEEPER - INSWING KEEPER - INSWING
1-7/8" between screws 5" between screws 1-7/8" between screws 1-7/8" between screws
1/8" bar to door clearance Part NcOA6419 Use wittvart N®®A7057 Use wittvart N®®A7057
(0p) Works with all stamped stainless steel Part NcOA6499 Part N®OA7056
x strike and keepers
O Part N©OQA7055
D: STRIKE DOOR HOOK/STOP STRIKE/KEEPER STRIKE/KEEPER - OUTSWING
D_: INSWING ] INSWING INSWING WITH TAB 1-7/8" between screws
2 ft;lgillégg\pl):ér?suctfgvvbr;g 5/8_ que x 2-3/4 1-7/8" between screws PART Nd- DOOR SIZE
- projection PART NQDOOR SIZE .
> Use wittPart Nc©OA6499/9A7056 Part NcOA4009 = 9A6379 3/4
a Part N©OAT057 9AB469|  3/4 9A6459 1"
LLl
0 CastStanlessSteel
0p]
DOOR PULL + ADA DOOR PULL :?\I%S’VF:NHGOOK STOP DOOR STOP
3" high x 5-1/4" Long 2-3/4" between screws OUTSWING
Part NcOA0625 Part NcOA6203 Mount on door Part Nc©9A4123

Part N©©A4003

Dome & Convex Safety Mirrors

See around corners to eliminate dangerous blind hallways and intersections.

Heavy duty mounting bracket(s) DIA. AREA | LBg. PARTNO.
are included for easy installation 12" | SMALL AREA K KM112
in most locations. INDOOR SPOT ARPL.
18" UP TO 15 L KM118
26" UP TO 20 1 KM126
HEAVY DUrY 18" UP TQ 150 5 KM218
OUTDOOR 26" UP TO R0© 14 KM226
30" UP TO 30 16 KM230

Light weight and virtually unbreakable.

HALF-DOME 180 | 1/2 | 18" | UP TO 150 SQQFT (4 KM318
1/2 | 26" | UPTO 200 SQFT |7 KM326
FULL-DOME 860 | B | 18" [UPTO300SQFT B KM418
b |[26" [UPTO400SQFT 10 KM426
QUARTER DOME|90/4 | 18" | UP TO 50 SQFT 3 KM518
1/4 | 26" | UPTO75SQFT 4 KM526

T-BAR PANORAMIC

Designed for use in drop ceilings where the ultimate in visibility

is required. No tools required, just remove ceiling tile and drop in

the mirror. Great ®t and ®nish$

T-BAR PANORAMIC 360

PVT-BAR 2x2 24" Dia.-Designed to mount in 2x2 T-Bar Ceiling 13lbs.

PVT-BAR 2x4 24" Dia.-Designed to mount in 2x4 T-Bar Ceiling 17Ibs.

Robert Brooke & Associates - 1465 Axtell Dr., Ste.B, Troy, Ml 48084 - Phone: 800-642-2403 - Fax: 800-642-2406 - www.robertbrooke.

68



